Standard Error

-10

Power 0 - 10

Power 10 - 20

Clock: Horvath, factor: Frailty, tissue: Blood

-5 0 5 10
Effect
Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 30 - 40 Power 60 - 70 . Power 80 - 90

= 0.05, 5= 0 | Medponer = 5%, dazy, = 0.05, degys = 0.08 | E = 3.37, O = 11, pres < 0.001, R-Index = 0%

100%

5%

5%

5%

5%

Jamod

B

PUB577
PUBS532
PUB522
PUB522 1
PUB522
PUB522
PUBO061
PUBO061 A
PUBO061 A
PUBO61
PUBO061
PUBO061
PUB108 1
PUB108 1
PUB108
PUB108
PUB108 1
PUB108 A
PUB108 +
PUB108 +
PUB108 -
PUB108 1
PUB108 A
PUB108 ~
PUB135 -
PUB135 -
PUB135
PUB135 +
PUB169
PUB169
PUB169 1
PUB169 A
PUB169
PUB169
PUB169
PUB169 1
PUB206
PUB206
PUB206 -
PUB229 1
PUB229 1
PUB254
PUB254
PUB254
PUB254 1
PUB254 1
PUB254
PUB254
PUB254

Summary -

Effect [95% CI]

T
-10

-5

Effect

O e = o o o= == o Em e Em e o e Em Em e e Em Em e e Em Em e Em Em Em e e Em Em e e Em R e e Em e e Em e e e Em Em e Em Em e e Em Em Em e Em Em e o e e e e e e e e e o e e e e = ==

0.26[0.11, 0.40]
-0.03[-0.10, 0.04
-0.33[-0.68, 0.02
~0.01[-0.04, 0.02
0.19 [-0.24, 0.62]
-0.01[-0.03, 0.01
-0.01[-0.02, 0.01
0.00 [-0.02, 0.01]
0.00 [-0.02, 0.02]
0.00 [-0.01, 0.01]
0.01 [-0.01, 0.02]
0.01[-0.01, 0.03]
~0.08 [-0.14, -0.0:
~0.08 [-0.14, —0.0:
-0.06 [-0.13, 0.01
-0.05[-0.12, 0.02
-0.05[-0.12, 0.02
-0.05 [-0.12, 0.02
-0.04 [-0.11, 0.03
-0.04 [-0.11, 0.03
-0.04[-0.11, 0.03
-0.02 [-0.09, 0.05
-0.02 [-0.09, 0.05
-0.01[-0.07, 0.05
0.00 [ 0.00, 0.00]
0.00 [ 0.00, 0.00]
0.00 [ 0.00, 0.01]
0.01[0.00, 0.01]
~0.41[-2.24, 1.42
-0.47[-2.22, 1.28
~0.57 [-2.40, 1.26
-0.62[-2.37, 1.13
0.52[0.02, 1.02]
0.57[0.07, 1.07]
0.580.08, 1.08]
0.62[0.12, 1.12]
~1.90 [-3.45, —0.3¢
-2.80 [-4.50, -1.1(
-2.80 [-4.50, -1.1(
-0.01[-0.05, 0.03
0.00 [-0.02, 0.02]
-2.61[-9.02, 3.80
-2.21[-9.92, 5.50
-0.15 [-0.99, 0.69
-0.05 [-0.62, 0.52
0.02 [-0.01, 0.05]
0.02 [-0.01, 0.05]
0.19 [-0.13, 0.51]
0.24[-0.19, 0.67]

0.00 [ 0.00, 0.00]



A 0.00

Standard Error

Clock: Horvath, factor: Depression, tissue: Blood

100%

0.25 18.2%
0.50 8.2%
0.75 6.4%

-2 -1 0 1 2
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

o =0.05, 5= -0.26 | Medponer = 31.9%, dagy, = 0.27, dggys = 0.42 | E = 2.95, O = 4, pres = 0.443, R-Index = 13.9%

Jamod

B

PUB575

PUB229

PUB306 -

PUB306 -

PUB306 -

PUB306 -

PUB306 -

PUB306 -

Summary =

Effect [95% CI]

Effect

1.81[0.20, 3.43]

0.01 [-0.05, 0.07]

-0.97 [-1.39, —0.5¢

-0.63[-1.02, —0.2¢

-0.60[-1.02, —0.1¢

-0.16 [-0.47, 0.15

-0.06 [-0.35, 0.24

-0.03[-0.34, 0.28

-0.26 [-0.56, 0.03



Standard Error

Clock: Horvath, factor: Smoking, tissue: Blood

Power 0 - 10

Power 10 - 20

0 5
Effect

Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 30 - 40 Power 60 - 70 . Power 80 - 90

a = 0.05, = 0.03 | Medponer = 5%, gy = 0.8, degys = 1.25 | E = 2.25, O = 6, pres = 0.01, R-Index = 0%

100%

5%

5%

5%

Jamod

B

PUBS535 -
PUB616 =
PUB616 =
PUB561 A
PUBG04 A
PUBO018
PUBO018
PUBO065
PUBO065
PUBO065 -
PUBOQ75
PUBO75
PUBO75 1
PUBO75 1
PUBO75 -
PUBO75
PUBO75
PUBO75 1
PUB106 A
PUB124
PUB124
PUB124 1
PUB124 1
PUB140 -
PUB140 -
PUB140
PUB154 ~
PUB154 1
PUB154
PUB154
PUB154 ~
PUB154 +
PUB251 1
PUB251 -
PUB251 +
PUB251
PUB251
PUB251 -
PUB251 -
PUB251 +

PUB332 1

Summary =

- = - = -

Effect [95% CI]

T
-10

-5

Effect

=) UM S S S S U S S S S S S TS U N G S S— ik ESS SE SN SIS N S D S S S S E—" -

0.47 [-2.75, 3.69
0.11[-0.04, 0.26
-0.08 [ -0.27, 0.11
0.27[ 0.05, 0.49]
1.82[-1.27, 4.92
-0.02 [ -0.15, 0.1(
0.02[-0.05, 0.09
-0.02 [ -0.68, 0.6
-0.15[ -0.51, 0.2z
0.06 [-0.59, 0.71
-0.57 [ -2.10, 0.9¢
-0.51 [ -2.08, 1.0¢
-0.49 [ -1.53, 0.5¢
-0.46 [ -1.54, 0.6:
-0.41[-1.77, 0.9
-0.32 [ -1.55, 0.91
-0.28 [ -1.52, 0.9¢
-0.26 [ -1.55, 1.0
-0.10 [ -0.18, -0.0
-5.13[-10.61, 0.3
-3.15[ -9.09, 2.7¢
-1.39 [ -6.58, 3.8
-0.26 [ -0.68, 0.1¢
0.44[-2.04, 2.92
2.41[-1.50, 6.32
3.98[ 0.51, 7.45]
-0.77 [ -2.50, 0.9¢
-0.56 [ -2.18, 1.0¢
0.60[-1.06, 2.26
1.03[ 0.12, 1.94]
1.27[ 0.34, 2.20]
1.69[ 0.72, 2.66]
-0.40 [ -1.02, 0.2:
-0.33[-0.96, 0.2¢
0.15[-0.88, 1.18
0.22[-0.21, 0.66
0.22[-0.21, 0.66
0.29[-0.41, 0.99
0.31[-0.39, 1.01
0.45[-0.59, 1.48
0.36[-1.19, 1.91

0.03[-0.05, 0.11



Clock: Horvath, factor: BMI, tissue: Blood

AP 100% B : Effect [95% ClI]
PUB535 - el 0.16 [-0.04, 0.36]
PUB616 - 1 O 0.33[0.18, 0.48]
PUB616 . 0.43[0.25, 0.61]
PUBS572 - | 0.09[0.04, 0.14]
PUB572 1] 0.06 [ 0.03, 0.09]
PUB604 - : 2.21[0.04, 4.39]
PUBO003 - 0.47 [-0.15, 1.09]
PUBO003 - ! I — 1.02[0.13, 1.91]
PUBO18 q -0.04[-0.12, 0.05
0.25 19.6% PUB018 0 0.06 [-0.02, 0.15]
PUB018 0 0.11[0.01, 0.22]
PUB050 : -0.21[-2.49, 2.07
PUB050 - E -0.03[-0.43, 0.37
PUBO50 - R L. . -0.01[-0.42, 0.40
PUB050 - 0.01 [-0.38, 0.40]
PUB050 E 1 0.02 [-0.38, 0.42]
PUBO050 : 0.06 [-2.22, 2.34]
PUBO50 - 1 0.19[-1.51, 1.89]
PUB050 o 1 0.22 [-1.47, 1.91]
0.50 8.5% PUBO050 A _I’ 0.22 [-0.33, 0.77]
PUBO050 - t 0.26 [-1.38, 1.90]
PUBO50 - 1 0.30 [-1.34, 1.94]
. PUB050 - :—:— 0.44 [-0.09, 0.97]
thJ PUBO50 - , 0.53[0.03, 1.03]
= 3 PUB050 - . 1 0.60[0.13, 1.07]
8 5 PUB050 - | 0.70[0.18, 1.22]
< PUB050 - . 0.76 [ 0.28, 1.24]
n PUB050 - (I 1 . 0.77[0.17, 1.37]
PUB050 - : B 0.85[0.29, 1.41]
075 6.6% PUB050 - | R 1 e 0.88[0.26, 1.50]
PUB050 - | R 1 e 0.94[0.35, 1.53]
PUB050 : O 1.04[0.34, 1.74]
PUBO50 o | B 1 1.37[0.72, 2.02]
PUBO050 o 1 B 1 2.10[1.27, 2.93]
PUB050 - ! T 2.45[1.67, 3.23]
PUBO061 [} 0.01[-0.10, 0.13]
PUB061 (1) 0.03[-0.09, 0.14]
PUB065 - B -0.41[-0.95, 0.13
PUBO065 - R 1 -0.45 [-1.00, 0.09
Yo o' 614 £0.26, 0.
PUB124 - é 0.00 [-0.14, 0.14]
PUB140 o' -0.34 [-0.58, —0.1(
PUB140 = -0.26 [-0.49, —-0.0:
PUB140 A o« -0.25[-0.52, 0.02
PUB140 o -0.10 [-0.27, 0.07
PUB211 b 0.02 [-0.02, 0.06]
PUB251 - R 1 -0.27 [-0.78, 0.25
PUB251 - R 1 -0.24 [-0.75, 0.27
PUB251 - #:— 0.20 [-0.59, 1.00]
1.25 5.6% PUB251 T 0.26 [-0.53, 1.06]
0 : : PUB251 - :-. 0.42 [-0.10, 0.95]
Effect PUB251 o , T 0.46 [-0.07, 0.98]
PUB251 - | T 0.62 [-0.18, 1.42]
PUB251 - | o w—— 0.76 [-0.04, 1.55]

. Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100 :
Summary | @ 0.27[0.14, 0.41]
. Power 10 - 20 Power 30 - 40 Power 60 — 70 . Power 80 — 90 | | |
-2.5 0.0 25

a =0.05, 3= 0.27 | Medpower = 17.7%, daze = 0.41, dgge = 0.63 | E = 21.5, O = 23, pres = 0.678, R-Index = 0% Effect



A 0.0

Standard Error

-5.0

Clock: Horvath, factor: Sex, tissue: Blood

100%

5.1%

5%

5%

-25 0.0 25 5.0
Effect

Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

o= 0.05, & = ~0.06 | Medpoer = 5.1%, dazy, = 0.8, dges = 1.25 | E = 1.49, O = 5, preg = 0.002, R-Index = 0%

Jamod

B

PUBS535 A

PUB519 -

PUB583 1

PUB604

PUB018 -

PUBO037 1

PUBO037

PUBO65 -

PUB106 A

PUB140

PUB140 -

PUB140 1

PUB332

Summary -

Effect [95% CI]

-6

Effect

3.11[-0.32, 6.54]

0.60 [-0.11, 1.31]

0.04 [-0.32, 0.40]

-0.50 [-1.87, 0.87

-0.11 [-0.17, 0.0t

1.04[0.05, 2.03]

1.16[0.13, 2.19]

-2.09 [-2.90, -1.2¢

0.13[0.07, 0.19]

-2.14[-5.28, 1.00

-2.14 [-5.64, 1.36

~0.63[-2.82, 1.56

-0.25[-1.64, 1.14

~0.06 [-0.64, 0.52



Standard Error

Clock: Horvath, factor: Dementia, tissue: Blood

100%

5.2%

5%

5%

5%

-2 -1 0 1 2
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

0 =0.05, &= 0.03 | Medponer = 8.3%, dagy, = 0.07, degys = 0.12 | E = 0.33, O = 1, pres = 0.223, R-Index = 0%

Jamod

B

PUB519

PUB269 -

PUB312

PUB312 -

Summary 4

[ Y S

Effect

Effect [95% Cl]

0.53 [-1.07, 2.13]

0.00 [-0.08, 0.08]

0.01 [-0.05, 0.08]

0.12[0.00, 0.24]

0.03 [-0.02, 0.07]



A 0.0

Standard Error

Clock: Horvath, factor: Cognitive function, tissue: Blood

-15

-1.0
Power 0 - 10
Power 10 - 20

-0.5

Power 20 - 30

Power 30 - 40

100%

5%

5%

5%

5%

5%

0.0 0.5 1.0 15
Effect
Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 60 - 70 . Power 80 — 90

o =0.05, 3= 0 | medpower = 5%, dazy = 0.04, deeo, = 0.06 | E = 4.04, O = 21, pres < 0.001, R-Index = 0%

Jamod

B

PUB519
PUB519 1
PUBO037
PUBO037 1
PUB108
PUB108 A
PUB108
PUB108 A
PUB108
PUB108 A
PUB108
PUB108 -
PUB108 +
PUB120 -
PUB120
PUB120 -
PUB120
PUB120 -
PUB120 -
PUB120
PUB120
PUB120
PUB120
PUB120
PUB120 -
PUB120
PUB120 -
PUB120 -
PUB120 -
PUB120
PUB120 -
PUB120 -
PUB120
PUB120
PUB120
PUB120
PUB120
PUB120 -
PUB120 -
PUB120 -
PUB120 -
PUB120 -
PUB120
PUB120 -
PUB120 -
PUB120
PUB120
PUB120
PUB120 -
PUB120
PUB120 -
PUB120 -
PUB120 -
PUB205
PUB205 -
PUB205 -
PUB205
PUB205
PUB205
PUB205
PUB205
PUB205 -
PUB205
PUB205 -
PUB205
PUB229
PUB269 1
PUB269 -
PUB269 1
PUB269
PUB269 A
PUB269
PUB286 A
PUB286
PUB286 -
PUB286
PUB291 -
PUB291 1
PUB291 -
PUB291 1

Summary

T

00000000

0000006000

B -oMﬂeoeuaMMo -y 000 ©00000060666000000000 0

©
o

0.5

Effect

1.0

15

-0.03, 0.04
-0.13, 0.14
-0.02, 0.07
-0.11, 0.17
-0.13, 0.19
-0.07, 0.19
-0.13, 0.26
-0.02, 0.02
-0.08, 0.04
-0.09, 0,07
~0.07, 0.09
-0.05, 0.07
-0.05, 0.07
-0.03, 0.09
-0.04, 0.04
-0.04, 0.04
-0.04, 0.04
-0.03, 0.05
-0.04, 0.04
-0.04, 0.04
-0.04, 0.04
-0.03, 0.05

0.00 [-0.01, 0.01]



Standard Error

Clock: Hannum, factor: Smoking, tissue: Blood

-4 0 4 8
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 — 70 . Power 80 - 90

a = 0.05, 5= -0.01 | Medpoyer = 5%, dazy, = 0.43, degys = 0.67 | E = 1.12, O = 4, pres = 0.005, R-Index = 0%

100%

5%

5%

Jamod

B

PUBG616

PUB616

PUBS504

PUBS540 -

PUBO018 -

PUB018 -

PUB106 -

PUB124

PUB124

PUB124

PUB124

PUB154 +

PUB154 +

PUB251 1

PUB251 1

PUB251 1

PUB251

PUB251

PUB251 +

PUB251 +

PUB251

Summary -

Effect [95% Cl]

-4

Effect

0.01[-0.11, 0.13]

0.17[0.00, 0.34]

-2.95[-3.88, 2.0t

-0.60 [-1.40, 0.20

-0.01[-0.07, 0.06

0.02 [-0.07, 0.10]

0.00 [-0.08, 0.08]

-1.34[-6.05, 3.37

~1.33[-6.44, 3.78

2.91[-0.27, 6.09]

3.11[-0.79, 7.01]

0.24 [-1.10, 1.58]

0.77[0.02, 1.52]

~0.36 [-0.89, 0.17

-0.30 [-0.83, 0.24

0.00 [-0.34, 0.35]

0.04 [-0.31, 0.38]

0.06 [-0.82, 0.94]

0.19 [-0.69, 1.07]

0.65[0.10, 1.20]

0.65[0.10, 1.21]

-0.01[-0.33, 0.30



Standard Error

Clock: Hannum, factor: Physical activity, tissue: Blood

100%

5%

5%

5%

-50 0 50
Effect

Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

a = 0.05, 5= -0.02 | Medpoyer = 5%, dazy, = 1.02, degys = 1.59 | E = 1.67, O = 1, pres = 0.595, R-Index = 7%

Jamod

B

PUB616 =
PUB616 A
PUB540
PUBO050 -
PUBO050 -
PUBO050 -
PUBO050 -
PUBO050 -
PUBO050 -
PUBO50
PUBO050 -
PUBO50
PUBO061 A
PUBO61
PUBO061 A
PUBO061
PUBO061 A
PUBO061
PUBO061 A
PUBO061
PUBO61
PUBO061 A
PUBO61
PUBO061 A
PUBO61
PUBO061 A
PUBO061
PUBO061 A
PUB124 1
PUB124 1
PUB124 1
PUB124

PUB206 -

Summary

Effect [95% CI]

T
-60

T
-30

Effect

O ==

30

0.07 [ -0.06, 0.2C
0.05[-0.20, 0.3C
-0.11[-0.77, 0.5
-0.58 [ -1.06, -0.1
-0.25[-0.74, 0.2
-0.22[-0.70, 0.2
-0.17[-0.67, 0.3
-0.11[-0.59, 0.3
0.01[-0.47, 0.4¢
0.01[-0.47, 0.4¢
0.03[-0.45, 0.51
0.07 [ -0.42, 0.5¢
-2.62[-7.13, 1.8
-2.13[-7.07, 2.8
-157[-5.88, 2.7
-1.40[-5.16, 2.3
-1.40[-6.06, 3.2
-1.33[-4.76, 2.1
-0.91[-4.49, 2.6
-0.48[-3.79, 2.8
-0.15[-1.19, 0.9
-0.10[-1.19, 0.9
-0.04[-0.78, 0.6
0.08[-0.62, 0.7¢
0.36[-1.03, 1.7¢
0.54[-1.15, 2.2t
0.58[-0.82, 1.9¢
0.60 [ -0.80, 1.9¢
-0.35[-1.66, 0.9
-0.33[-2.15, 1.4
-0.21[-1.78, 1.3
-0.18[-1.80, 1.4
~23.50 [-77.20, 30

-0.02[-0.12, 0.0



Clock: Hannum, factor: BMI, tissue: Blood

A" o B : Effect [95% ClI]
PUB616 - Eo 0.15[0.03, 0.27]
PUBG16 : o 0.20[0.06, 0.34]
PUB540 - -I_ 0.11[-0.60, 0.82]
PUB003 o —:_ 0.07 [-0.66, 0.79]
PUBO00S - : o — 0.78 [-0.11, 1.67]
PUB018 o o -0.02 [-0.10, 0.05
0.25 12.1% PUBO018 - o 0.05[-0.03, 0.13]
PUBO018 - : o 0.16 [ 0.07, 0.24]
PUB050 o E 0.07 [-1.67, 1.81]
PUB050 - o 0.09 [-0.33, 0.51]
PUB0S0 4 : 0.23[-1.51, 1.97]
PUB050 - :-. 0.23[-0.18, 0.64]
5 PUB050 - : R 1 s 0.67[0.14, 1.20]
U_E 3 PUBO0S0 - E E 1 0.890.39, 1.39]
% 0.50 67% @ PUB050 - : ] e 1.34[0.70, 1.98]
2 PUB0S0 : ] . 156[0.96, 2.16]
PUBO061 - 0.00 [-0.10, 0.10]
PUBO061 - g 0.02 [-0.08, 0.11]
PUB106 o o 0.03[-0.03, 0.09]
PUB124 o : —-0.14 [-0.24, -0.0¢
PUB124 o o 0.00[-0.11, 0.11]
PUB211 - o -0.02 [-0.08, 0.04
e o PUB251 “ -0.19 [-0.59, 0.21
PUB251 - -.: -0.19 [-0.60, 0.21
PUB251 - | — 0.06 [-0.62, 0.74]
PUB251 - —I- 0.14 [-0.54, 0.82]
PUB251 :—_ 0.24 [-0.44, 0.92]
PUB251 - = | = 0.38 [-0.29, 1.06]
PUB251 - : R 1 = 0.46 [ 0.05, 0.87]
-2 -1 0 1 2 PUB251 - : R 1 = 0.58[0.16, 0.99]
Effect I
I
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100 Summary : ‘ 0.19 [ 0.07, 0_32]
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90 | ; | |
-1 0 2

a =0.05, 3= 0.19 | Medponer = 14.9%, daze = 0.32, dege = 0.5 | E = 12.41, O = 10, pres = 0.372, R-Index = 0% Effect



Clock: Hannum, factor: SES, tissue: Blood
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=0%

25, pres = 0.476, R-Index

=111|E=22150=

=0.71, dgsw

8.6%, 330

=0.26 | medyopwer =

0.05, %
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A 0.0

Standard Error

Clock: Hannum, factor: Alcohol consumption, tissue: Blood

100%

5.3%

5.1%

5%

5%

-1 0 1 2
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

o =0.05, 5= 0.03 | medpower = 5.4%, daas = 0.27, desse = 0.42 | E = 1.93, O = 3, pres = 0.422, R-Index = 0%

Jamod

B

PUBG616

PUB616 A

PUBS540 -

PUB00G -

PUBOOG =

PUB006 -

PUBO018

PUBO018 -

PUBO027 1

PUBO027

PUBO027 1

PUBO027

PUB106 -

PUB124

PUB124

PUB251 1

PUB251 -

PUB251 1

PUB251

PUB251 -

PUB251 +

PUB251 -

PUB251 1

Summary

Effect [95% CI]

-2

o-—t—————————————————————————————————o—————————————Q—Q———o——————————a———-

Effect

0.03[-0.11, 0.17]
0.21[0.04, 0.38]
1.37[0.10, 2.64]
-0.56 [-1.00, —0.1:
0.03 [-0.03, 0.08]
0.19[0.00, 0.39]
-0.04 [-0.10, 0.01
0.04 [-0.09, 0.17]
0.15[-0.21, 0.51]
0.17 [-0.18, 0.52]
0.23 [-0.08, 0.54]
0.24 [-0.07, 0.55]
0.00 [-0.04, 0.04]
-1.03[-2.23, 0.17
-0.27 [-1.70, 1.16
-0.24[-0.59, 0.10
-0.24[-0.59, 0.11
0.07 [-0.51, 0.65]
0.10 [-0.49, 0.68]
0.15 [-0.44, 0.73]
0.16 [-0.43, 0.75]
0.72[-0.42, 1.86]

0.77 [-0.37, 1.91]

0.03 [-0.02, 0.08]



Standard Error

Clock: Horvath, factor: Alcohol consumption, tissue: Blood

-5 0 5
Effect

Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 — 70 . Power 80 — 90

o =0.05, &= 0.01 | medponer = 5%, dagy, = 0.53, degys = 0.82 | E = 1.97, O = 2, pres = 0.983, R-Index = 4.7%

100%

5%

5%

5%

Jamod

B

PUBG616
PUBG616 A
PUBG604 A
PUBOO0G
PUBO0O0G -
PUBO0O06
PUBO018
PUBO018 1
PUBO027 1
PUB027
PUBO027 1
PUBO027 1
PUBO046
PUBO046 -
PUBO046 A
PUBO046
PUBO75
PUBO75 1
PUBO75
PUBOQ75
PUBOQ75 1
PUBO75
PUBO75
PUBO75 A
PUB106
PUB124 1
PUB124 1
PUB140
PUB140 -
PUB140
PUB251
PUB251 -
PUB251
PUB251
PUB251 -
PUB251
PUB251 1

PUB251

Summary -

e e e e e o e e Em Em o e e e e Em e e e Em EE e Em Em EE e Em e Em e M Em Em e R EE EE R R R e ———— ——— —— = = = = e Em Em mm e Em Em e e Em = e = = = = e ]

Effect [95% CI]

-8

-4
Effect

O =t

0.00[-0.18, 0.18
0.25[ 0.01, 0.49]
~1.30[-2.71, 0.11
-0.54[-0.88, -0.2
0.04[-0.01, 0.10
0.09[-0.11, 0.28
-0.05[-0.11, 0.0z
0.09[-0.13, 0.32
~0.20 [ -0.48, 0.0¢
-0.19 [ -0.46, 0.0¢
~0.14 [ -0.48, 0.2
~0.12[ -0.44, 0.2
0.00 [ -0.03, 0.03
0.01[-0.02, 0.04
0.01[-0.02, 0.05
0.02[-0.02, 0.05
-0.85[ -2.47, 0.7
~0.85[-2.47, 0.7
0.01[-1.28, 1.30
0.05[-1.26, 1.36
0.22[-0.96, 1.40
0.22[-0.96, 1.40
0.50 [ -0.43, 1.43
0.52[-0.42, 1.46
~0.03 [ -0.09, 0.0:
-0.92 [ -2.32, 0.4¢
~0.01[-1.71, 1.6¢
-4.55[-10.51, 1.4
~2.49[-6.22, 1.2¢
~2.35[-7.76, 3.0¢
~0.36 [ -0.80, 0.07
-0.34[-0.78, 0.1(
0.13[-0.61, 0.88
0.19[-0.55, 0.94
0.22[-0.46, 0.90
0.28[-0.41, 0.96
0.46 [ -0.87, 1.80
0.52[-0.82, 1.86

0.01[-0.01, 0.02



Standard Error

Power 0 - 10

Power 10 - 20

Power 20 - 30

Power 30 - 40

Clock: Horvath, factor: Physical activity, tissue: Blood

100%

5%

5%

5%

5%

5%

0 40
Effect

Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 60 - 70 . Power 80 — 90

= 0.05, 5= 0 | Medpower = 5%, dazy, = 0.5, degyy = 0.78 | E = 3.98, O = 5, pres = 0.598, R-Index = 3.2%

Jamod

B

PUB616
PUBG616
PUBO050 -
PUBO050 -
PUBO050 -
PUBO050 -
PUBO050 -
PUBO050 -
PUBO050 -
PUBO050 -
PUBO050 -
PUBO050 -
PUBO050 -
PUBO50
PUBO50
PUBO50
PUBO50
PUBO50 ~
PUBO050 -
PUBO050 -
PUBO050 -
PUBO050 -
PUBO050 -
PUBO050 -
PUBO050 -
PUBO050 -
PUBO050 -
PUBO050 -
PUBO050 -
PUBO061 A
PUBO061 A
PUBO061 A
PUBO61
PUBO61
PUBO61
PUBO61
PUBO61
PUBO61
PUBO061
PUBO061
PUBO061
PUBO061
PUBO061
PUBO061
PUBO061 A
PUBO065
PUBO065
PUBO75 1
PUBO75 A
PUBO75 A
PUBO75
PUBO75 1
PUBO75
PUBO75
PUBO75
PUBO75
PUBO75
PUBO75
PUBOQ75
PUBOQ75 -
PUBO75
PUBO75 -
PUBO75
PUBO75
PUBO75 A
PUBO75 1
PUBO75 1
PUB124 1
PUB124 1
PUB124 1
PUB124 1
PUB206
PUB206
PUB206

Summary -

T
-60

~30
Effect

e R e S ST AU PSS SR SO SO e e e e e e e e A e S S S S T S E———

3(C

Effect [95% CI]

0.08 [-0.08, 0.2
0.22[ 0.04, 0.40
-1.07 [-1.70, —0.£
-0.55[-1.18, 0.0
-0.54[-1.19, 0.1
-0.37[-0.82, 0.0
-0.35[-0.82, 0.1
-0.33[-0.98, 0.3
-0.31[-0.77, 0.1
-0.30 [ -0.75, 0.1
-0.19 [ -0.82, 0.4
-0.17[-0.64, 0.3
-0.17[-0.81, 0.4
-0.16 [-0.62, 0.3
-0.15[-0.61, 0.3
-0.15[-0.61, 0.3
-0.14[-0.61, 0.3
-0.14[-0.59, 0.3
-0.14[-0.61, 0.3
-0.12[-0.59, 0.3
-0.10[-0.58, 0.3
-0.07 [ -0.56, 0.4
-0.06 [-0.51, 0.3
-0.05 [ -0.50, 0.4
-0.04[-0.51, 0.4
-0.04[-0.68, 0.6
-0.02 [ -0.49, 0.4
0.00 [-0.63, 0.6
0.03 [ -0.60, 0.6¢
-0.24]-1.40, 0.9
-0.10[-1.35, 1.1
-0.02 [ -0.05, 0.0
0.00 [-0.04, 0.0
0.00 [ 0.00, 0.00
0.00 [ 0.00, 0.00
0.00 [ 0.00, 0.01
0.00[ 0.00, 0.01
0.01[-0.04, 0.0¢
0.02[-0.02, 0.07
0.20 [ -0.88, 1.2¢
0.36 [ -1.54, 2.2¢
0.42[-0.41, 1.2€
0.77[-1.29, 2.8z
0.82[-0.74, 2.3¢
1.00 [ -0.55, 2.5t
-0.46[-0.92, 0.0
-0.57 [ -1.03, -0.]
-2.37[-5.49, 0.7
-2.01[-5.20, 1.1
-2.00 [-4.71, 0.7
-1.91[-4.61, 0.7
-1.61[-3.67, 0.4
-1.44[-3.54, 0.6
-1.15[-2.94, 0.6
-1.08[-2.87, 0.7
-042[-2.14, 1.3
-0.14[-151, 1.2

-0.03[-1.67, 1.6

0.02[-1.
0.04[-1.35, 1.4
0.19 [ -0.61, 0.9¢
0.20 [ -1.47, 1.87
0.34[-1.24, 1.9
0.60[-0.97, 2.17
. . 1
1

0.64[-2.18, 3.4¢
~17.70 [-60.50, 25
-35.00 [-82.05, 12
-35.80 [-83.00, 11

0.00[ 0.00, 0.00



Standard Error

0.25

0.50

0.75

1.00

Clock: Horvath, factor: SES, tissue: Blood

-2 -1 0 1 2
Effect

Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

o =0.05, 3= 0.09 | Medpower = 5.4%, daze = 0.79, desso = 1.23 | E =5.38, O = 2, pres = 0.124, R-Index = 6.9%

100%

6.6%

5.4%

5.2%

5.1%

Jamod

B

PUB616 A
PUB616 =
PUB615 -
PUB615 A
PUBG615
PUB615 -
PUB615 A
PUBG615
PUBO018 -
PUB188 1
PUB188
PUB188 A
PUB188 1
PUB188
PUB188 o
PUB188 1
PUB188
PUB188 o
PUB188
PUB188
PUB188 A
PUB188 1
PUB188
PUB188 1
PUB188
PUB188
PUB188 1
PUB188
PUB188
PUB188 A
PUB188
PUB188
PUB188 A
PUB188
PUB188
PUB188 1
PUB188
PUB188
PUB188 1
PUB188
PUB188
PUB188 1
PUB208 +
PUB208 -
PUB208
PUB211
PUB251 -
PUB251
PUB251 +
PUB251 -
PUB332 1
PUB332

Summary -

B = S S —_
L

/WS [N U X I [ o . v e
| ]

Effect [95% Cl]

-2

O == ‘— ———— -

Effect

0.11 [-0.07, 0.29]
0.19[0.00, 0.38]

1.89[0.41, 3.37]

~0.73 [-1.54, 0.08]
2.40[0.61, 4.19]

-0.26 [-1.76, 1.24]
-0.68 [-1.61, 0.25]
0.26 [-0.97, 1.49]
~0.03 [0.10, 0.04]
-0.52[-1.91, 0.87]
-0.33 [-1.42, 0.76]
-0.20 [-1.14, 0.74]
-0.11 [-0.71, 0.49]
0.01 [-0.60, 0.62]
0.06 [-0.95, 1.07]
0.09 [-0.54, 0.72]
0.14 [-0.50, 0.78]
0.17 [-0.73, 1.07]
0.25 [-0.82, 1.32]
0.28 [-0.64, 1.20]
0.35 [-0.56, 1.26]
0.42 [-0.63, 1.47]
0.42 [-0.69, 1.53]
0.43 [-0.62, 1.48]
0.45 [-0.59, 1.49]
0.45 [-0.57, 1.47]
0.53 [-0.49, 1.55]
0.54 [-0.52, 1.60]
0.60 [-0.41, 1.61]
0.62 [-0.43, 1.67]
0.64 [-0.38, 1.66]
0.65 [-0.22, 1.52]
0.65 [-0.70, 2.00]
0.69 [-0.25, 1.63]
0.69 [-0.17, 1.55]
0.76 [-0.11, 1.63]
0.82 [-0.56, 2.20]
0.84[-0.18, 1.86]
0.97 [-0.09, 2.03]
1.00 [-0.33, 2.33]
1.02 [-0.04, 2.08]
1.05 [-0.02, 2.12]
0.30 [-1.50, 2.10]
0.70 [-0.35, 1.75]
1.30 [-0.10, 2.70]
-0.02 [-0.10, 0.06]
-0.31[-0.70, 0.09]
-0.20 [-0.61, 0.20]
0.07 [-0.20, 0.34]
0.07 [-0.20, 0.34]
-0.22 [-1.47, 1.03]
0.00 [-0.03, 0.03]

0.09[0.02, 0.17]



Standard Error

Clock: PhenoAge, factor: Smoking, tissue: Blood

100%

6.9%

5.5%

5.2%

-10 -5 0 5 10
Effect
. Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
. Power 10 - 20 Power 30 - 40 Power 60 — 70 . Power 80 - 90

a=0.05, 5= 0.4 | Medponer = 19.5%, dagy, = 0.56, degys = 0.87 | E = 11.35, O = 12, prs = 0.801, R-Index = 0%

Jamod

B

PUB616 -

PUBG616

PUB572 1

PUB572 1

PUB561

PUB018 -

PUBO018

PUB106 A

PUB124 -

PUB124

PUB124 1

PUB124

PUB140

PUB154 -

PUB154

PUB209 1

PUB209 -

PUB230 -

PUB251 -

PUB251 +

PUB251 1

PUB251 -

PUB251 +

PUB251 -

PUB251

PUB251 1

PUB332

Summary

«-—»
L = J

<o T~

'O'B"Q"""""""'"“':'"

Q-Q-Q-a

>

Effect [95% CI]

T
-10

-5

Effect

e PSSP W ————

0.52[ 0.28, 0.76]
1.41[ 1.15, 1.67]
0.16 [ 0.11, 0.21]
0.11[ 0.07, 0.15]
0.25[ 0.01, 0.49]
0.03[-0.03, 0.09
0.05[-0.07, 0.17
0.09[ 0.01, 0.17]
~7.07 [13.75, =0.
-6.31 [-12.47, -0.1
1.29[-2.69, 5.27
1.44[-3.42, 6.30
3.08[ 0.25, 5.91]
0.41[-1.17, 1.99
0.66 [-0.22, 1.54
0.32[-0.12, 0.77
0.33[-0.02, 0.68
0.68[ 0.24, 1.12]
-0.30 [ -1.03, 0.4:
-0.22 [ -0.95, 0.51
0.34[-0.21, 0.88
0.37[-0.83, 1.57
0.44[-0.02, 0.90
0.57[-0.63, 1.77
1.28[ 0.57, 2.00]
1.31[ 0.57, 2.05]

1.84[-0.17, 3.85

0.40[ 0.20, 0.60]



Standard Error

Clock: PhenoAge, factor: BMI, tissue: Blood

-50 0 50
Effect

Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

a0 =0.05, 3= 0.4 | medpower = 80%, daae = 0.22, dgeos = 0.34 | E = 23.46, O = 21, pres = 0.421, R-Index = 100%

100%

5%

5%

5%

Jamod

B

PUB616 A
PUBG616 A
PUBS572 1
PUB572
PUBO018 A
PUBO018 1
PUBO018
PUBO034 ~
PUBO043 1
PUBO043 1
PUBO043
PUB043
PUBO043 1
PUBO043
PUBO50
PUBO50
PUBO050 -
PUBO050 -
PUBO50 ~
PUBO050 -
PUBO050 -
PUBO050 -
PUBO53
PUBO053
PUBO061 A
PUBO061
PUB106
PUB124 1
PUB124 1
PUB140 -
PUB211
PUB251
PUB251 -
PUB251 -
PUB251 +
PUB251 1
PUB251 -
PUB251

PUB251

Summary =

- —

L el

e === - = -
«» T»

T e e ——

==

—

T
-60

T
-30

o

Effect

30

60

Effect [95% CI]

0.33[ 0.11, 0.55]
1.01[ 0.74, 1.28]
0.12[ 0.07, 0.17]
0.12[ 0.08, 0.16]
0.00[-0.10, 0.09
-0.08 [ -0.17, 0.01
0.16[ 0.06, 0.26]
0.02[-0.03, 0.07
0.00[-0.01, 0.01
-0.62 [-58.57, 57.:
-0.74[-1.27, -0.2
0.01[ 0.00, 0.02]
0.01[ 0.00, 0.02]
0.03[-0.59, 0.65
0.27[-0.26, 0.80
0.51[ 0.00, 1.02]
1.41[ 0.75, 2.07]
1.46 [ -0.70, 3.62
1.71[-0.45, 3.87
1.82[ 1.20, 2.44]
2.69[ 1.90, 3.48]
3.15[ 2.41, 3.89
0.36[ 0.10, 0.62]
0.60[ 0.32, 0.88]
0.11[-0.05, 0.26
0.11[-0.04, 0.27
0.16 [ 0.10, 0.22]
-0.21[-0.34, -0.0
-0.13 [ -0.27, 0.01
-0.22[-0.42, -0.0
0.06 [-0.02, 0.14
-0.04 [ -0.58, 0.5(
-0.01[-0.53, 0.5:
0.09[-0.84, 1.01
0.18[-0.74, 1.11
0.75[-0.18, 1.68
0.87[ 0.33, 1.40]
0.94[ 0.01, 1.87]
1.11[ 0.56, 1.66]

0.40[ 0.17, 0.63]



Standard Error

Clock: PhenoAge, factor: Physical activity, tissue: Blood

100%

5%

5%

5%

5%

-30 0 30 60
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

o =0.05, 3= -0.2 | medpower = 9.8%, dazos = 0.47, desss = 0.73 | E = 12.09, O = 4, pres = 0.004, R-Index = 7.8%

Jamod

B

PUB616 =
PUBG616
PUBO034 ~
PUBO050 -
PUBO50
PUBO050 -
PUBO50
PUBO050 -
PUBO50 ~
PUBO050 -
PUBO50
PUBO050 -
PUBO61
PUBO061 A
PUBO61
PUBO061 A
PUBO61
PUBO061 A
PUBO61
PUBO061 A
PUBO61
PUBO061 A
PUBO61
PUBO061 A
PUBO61
PUBO061 A
PUBO61
PUBO061 A
PUB124
PUB124 1
PUB124
PUB124 1
PUB206

PUB230 -

Summary 4

T
|
{

25
Effect

50

Effect [95% Cl]

0.20[-0.04, 0.44
0.31[-0.12, 0.74
0.04[-0.01, 0.09
-1.30 [ -1.90, -0.7
~1.24[-1.34,-1.1
-0.75[-1.35, -0.1
-0.62[-1.23, -0.0
-0.58 [ -1.18, 0.0z
-0.53[-1.13, 0.07
-0.34[-0.96, 0.2¢
-0.32[-0.92, 0.2¢
-0.20 [ -0.80, 0.4C
-0.70 [ -2.38, 0.97
-0.65[-2.51, 1.2
-0.41[-1.86, 1.0¢
-0.40 [ -1.53, 0.7:
-0.01[-0.04, 0.0z
0.00[ 0.00, 0.00]
0.00 [ 0.00, 0.00]
0.00[ 0.00, 0.00]
0.00 [ -0.02, 0.02
0.00[ 0.00, 0.01]
0.00 [ -0.04, 0.04
0.02[-0.02, 0.06
0.42[-1.66, 2.50
0.66 [ -2.08, 3.40
1.29[-0.80, 3.38
1.69[-0.71, 4.08
-2.16 [ -4.32, 0.0C
0.12[-2.16, 2.40
0.55[-1.16, 2.26
0.71[-1.42, 2.84
23.40 [-18.40, 65.
-0.15[ -0.62, 0.3:

-0.20[-0.37,-0.0



A 0.0

Standard Error

Clock: PhenoAge, factor: SES, tissue: Blood

100%

0.3 4 - 67.6%

amod

0.6 - 22.7%

0.9 12.7%

-2 0 2
Effect
. Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
. Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

a = 0.05, 5= 0.73 | Medpower = 37%, dags, = 0.68, dggy, = 1.06 | E = 31.54, O = 35, pres = 0.406, R-Index = 24%

B

PUBG616
PUBG616
PUBO018 -
PUB188
PUB188
PUB188
PUB188
PUB188
PUB188
PUB188
PUB188
PUB188
PUB188
PUB188
PUB188
PUB188
PUB188
PUB188
PUB188 A
PUB188
PUB188
PUB188
PUB188 A
PUB188 o
PUB188 A
PUB188 A
PUB188 A
PUB188 A
PUB188 1
PUB188 1
PUB188 A
PUB188 A
PUB188 A
PUB188 1
PUB188 1
PUB188 1
PUB208 A
PUB208
PUB208 A
PUB209 1
PUB209 1
PUB209 1
PUB209 1
PUB211 1
PUB251 1
PUB251 1
PUB251
PUB251 1
PUB251 1
PUB251
PUB251
PUB251
PUB251
PUB251
PUB251
PUB251
PUB251 +
PUB251 +
PUB251 +
PUB251 +
PUB251 +
PUB251 +
PUB251 +
PUB251
PUB251 +
PUB251
PUB251 +
PUB251
PUB332
PUB332

Summary -
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Effect

Effect [95% CI]

0.31
0.60
-0.09
-0.02
0.41
0.47
0.63
0.64
0.74
0.84
1.06
112
1.13
1.16
1.18
1.39
1.48
1.49
1.57
1.59
1.68
1.68
1.69
1.79
1.83
1.96
2.00
2.23
2.25
2.37
241
2.43
2.69
3.02
3.09
3.59
0.50
1.00
1.60
-0.09
0.07
0.49
0.68
0.01
-0.40
-0.19
-0.08
0.04
0.05
0.16
0.16
0.20
0.20
0.22
0.24
0.24
0.25
0.27
0.30
0.48
0.51
0.53
0.53
0.57
121
121
1.52
1.55
0.01
0.34

~0.05, 0.67]
0.26, 0.94]
[-0.17, -0.01
[-1.42, 1.38
-0.90, 1.72
-0.56, 1.50
-0.58, 1.84
-0.09, 1.37
-0.52, 2.00
0.08, 1.60]
-0.34, 2.46
-0.40, 2.64
-0.28, 2.54
0.31, 2.01]
-0.24, 2.60]
0.16, 2.62
0.24, 2.72
0.60, 2.38
0.09, 3.05
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5, 2.55]
-0.30, 2.30]
-0.45, 3.65]
[-0.21, 0.02
-0.05, 0.18]
0.08, 0.90]
0.20, 1.15]
-0.15, 0.17]
[-1.24, 0.43
[-1.02, 0.65
[-0.54, 0.37
-0.43, 0.50
-0.65, 0.76
-0.07, 0.39
-0.52, 0.85
-0.03, 0.43
-0.48, 0.89
-0.47, 0.90
-0.49, 0.96
-0.49, 0.97
-0.46, 0.95
0.04, 0.49]
0.07, 0.53]
-0.24, 1.21]
0.22, 0.79]
-0.19, 1.24]
0.25, 0.81]
-0.11, 1.24]
0.49, 1.93]
0.34, 2.09]
0.81, 2.22]
0.68, 2.42]
-0.03, 0.05]
-1.18, 1.86]

0.73[0.55, 0.90]



Standard Error

Clock: PhenoAge, factor: Alcohol consumption, tissue: Blood

-4 0 4
Effect

Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

a = 0.05, 5= 0.13 | Medponer = 8.9%, dagy, = 0.35, degys = 0.54 | E = 6.94, O = 10, pres = 0.178, R-Index = 0%

100%

5.8%

5.2%

5.1%

5.1%

Jamod

B

PUB616 -

PUBG616

PUBO0O06

PUBO0O0G -

PUBOO0G

PUB018 -

PUBO018

PUBO027 1

PUB027 -

PUB027

PUBO027 1

PUBO046 -

PUBO046 A

PUB106 -

PUB124

PUB140 1

PUB209 -

PUB209

PUB230 -

PUB251 +

PUB251 1

PUB251 -

PUB251 +

PUB251 -

PUB251

PUB251 1

PUB251 -

Summary

168V e—g— o

Effect [95% CI]

-6

-3

Effect

o"'s'_"'_'"'_"_'_"'Q';"Q'E""_""'"'—_"—_—'

0.10 [-0.14, 0.34]
0.91[0.57, 1.25]
~0.65 [-1.16, —0.1¢
-0.03[-0.11, 0.05
0.36[0.11, 0.62]
-0.02 [-0.09, 0.05
0.28[0.06, 0.50]
~0.06 [-0.49, 0.37
0.02 [-0.34, 0.38]
0.13[-0.25, 0.51]
0.17 [-0.29, 0.63]
0.07 [ 0.04, 0.10]
0.08[0.05, 0.11]
0.03 [-0.01, 0.07]
-0.74[-2.31, 0.83
-3.75[-8.12, 0.62
0.17 [-0.56, 0.91]
0.26 [-0.13, 0.65]
0.04 [-0.41, 0.49]
-0.13 [-0.59, 0.34
-0.08 [-0.53, 0.37
0.13[-0.66, 0.92]
0.17 [-0.63, 0.96]
0.85[0.06, 1.64]
0.92[0.15, 1.69]
1.68[0.12, 3.24]

1.75[0.19, 3.30]

0.13[0.02, 0.24]



Clock: PhenoAge, factor: Blood pressure, tissue: Blood

0.000 100% I
A B .
1
1 Effect [95% CI]
1
1
1
1
1
PUB572 A : 0.09[0.04, 0.14]
1
1
PUB572 o 0.00 [-0.03, 0.03]
0.025 - - 25.6%
PUB124 o -0.05[-0.11, 0.01]
PUB124 - -0.02 [-0.05, 0.01]
S
LD o
o ] PUB124 - 0.01 [-0.05, 0.07]
s 3
S 0.050 0%
n
PUB124 o 0.02 [-0.02, 0.06]
PUB125 - 0.07 [-0.03, 0.17]
PUB125 o 0.16 [ 0.03, 0.29]
0.075 7.2%
PUB125 - 0.22[0.05, 0.39]
-0.2 -0.1 0.0 0.1 0.2
Effect Summary 0.03 [-0.01, 0.07]
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90
T

0.4

0 = 0.05, 5= 0.03 | Medponer = 16.6%, dagy, = 0.05, dggy, = 0.08 | E = 2.08, O = 3, pres = 0.468, R-Index = 0%



Standard Error

Clock: GrimAge, factor: Cognitive function, tissue: Blood

A 0.0

e g ' Effect [95% CI]

PUB572 A 3 -0.02[-0.08, 0.04

PUB572 o . -0.05[-0.11, 0.01
PUB572 A E « 3 | -0.08 [-0.12, —0.0¢
PUB572 o E « 3 -0.07 [-0.12, 0.0z
PUB029 e ~0.01[-0.09, 0.06
PUB029 o E -0.02 [-0.08, 0.03
PUB029 o B -0.03 [-0.10, 0.05
PUB029 - L 3 -0.04 [-0.09, 0.02
PUB029 o - -0.06 [-0.12, 0.00
PUB029 o ] -0.06 [-0.14, 0.02
PUB029 o B 1 -0.07 [-0.15, 0.01
PUB029 o e ) -0.09 [-0.16, -0.01
PUB029 o e ! -0.10 [-0.17, -0.0z
PUB029 o - ! -0.10 [-0.18, -0.0¢
PUB029 - -0.12 [-0.19, -0.0¢

PUB029 o 0.00 [-0.07, 0.07]

PUB029 o 0.00 [-0.08, 0.08]

PUB029 - , WO 0.08[0.01, 0.15]

PUB029 - | R = 0.13[0.05, 0.20]

PUBO037 - | -0.13[-0.68, 0.42
9.8% PUB108 E . 8 i -0.32 [-0.38, —0.2¢
PUB108 o R« | -0.30[-0.36, —0.2¢
PUB108 o - 1 -0.26 [-0.32, -0.2(
PUB108 A I 1 —-0.26 [-0.34, -0.1¢
PUB108 R 1 e 1 -0.26 [-0.34, -0.1¢
PUB108 o R« . 1 -0.25[-0.32, -0.1¢
PUB108 o R« . | -0.23[-0.29, -0.1
PUB108 o R | —-0.21[-0.28, -0.1¢
PUB108 - B« | -0.16 [-0.25, -0.07
PUB120 o' -0.04 [-0.08, -0.01
- PUB120 1 o -0.04 [-0.07, 0.00
g PUB120 - ol -0.03 [-0.06, 0.00
5] PUB120 A ol -0.03 [-0.06, 0.00
- PUB120 - o, -0.03 [-0.06, 0.00
PUB120 - O -0.01 [-0.04, 0.01
PUB120 - £ ] -0.01 [-0.04, 0.01
PUB120 - O -0.01 [-0.04, 0.01

PUB120 - o -0.01 [-0.04, 0.01

PUB120 - O -0.01 [-0.03, 0.01

PUB120 - O -0.01 [-0.03, 0.01

PUB120 - o -0.01 [-0.03, 0.01

6.2% PUB120 - © -0.01 [-0.03, 0.01
PUB120 - o -0.01 [-0.03, 0.01

PUB120 - o -0.01 [-0.03, 0.01

PUB120 ‘D 0.02 [-0.01, 0.05]

PUB120 - 0.02 [-0.01, 0.06]

PUB120 - 0.02 [-0.01, 0.06]

PUB120 - 0.03 [-0.01, 0.06]

PUB120 - o 0.03 [-0.01, 0.06]

PUB205 - <, -0.05 [-0.09, -0.0]

PUB205 A a» —-0.05 [-0.09, —-0.01

PUB205 o I W— 1 -0.31 [-0.51, -0.11

PUB205 - I E— 1 -0.40 [-0.61, —0.1¢

PUB205 o 1 T 0.19[0.05, 0.34]

PUB205 - 1 - E— 0.23[0.07, 0.39]

PUB229 o -0.01[-0.05, 0.03

PUB269 - ! -0.05[-0.11, 0.01

PUB269 E -« N -0.03 [-0.09, 0.03

PUB269 - O -0.03 [-0.09, 0.03

PUB269 0 00 [-0.06, 0.06]

PUB269 o 01 [-0.05, 0.07]

PUB269 o 0 03 [-0.03, 0.09]

5.5% PUB286 u» | -0.18[-0.23, -0.1:
PUB286 L - 3 | -0.12 [-0.17, -0.0}

PUB286 E « 3 | -0.12[-0.17, -0.0%

-05 0.0 0.5 PUB286 - a» -0.10 [-0.15, —-0.0¢
Effect PUB291 - @ | -0.18 [-0.23, -0.1¢
PUB291 A R « 3 1 -0.12 [-0.17, -0.03

PUB291 - E - & | -0.12 [-0.17, -0.03

—_ — —_ C

. Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100 PUB291 7 -> : 0.10[-0.15, 0.0
. Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90 Summary 1 - : ~0.06 [-0.09, 0.0

T L] T
050 -0.25 0.00 0.25
o = 0.05, 3= -0.06 | medyower = 56.4%, daay, = 0.05, desys = 0.07 | E = 44.5, O = 34, pres = 0.009, R-Index = 64.3% Effect



A 0.0

Standard Error

Clock: PhenoAge, factor: WHR, tissue: Blood

100%

100%

92.1%

- 61.3%

Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

o =0.05, 5= 0.67 | medpower = 58.8%, dass = 0.47, degs, = 0.73 | E = 7.42, O = 9, pres = 0.254, R-Index = 27.6%

Jamod

B

PUB572

PUB572

PUBO50 -

PUBO50 -

PUBO50 -

PUBO050 -

PUBO050 -

PUBO050 -

PUBO053 -

PUBO053 -

Summary -

Effect

Effect [95% CI]

0.03 [-0.01, 0.07]

0.03[0.00, 0.06]

0.68[0.08, 1.28]

0.82[0.22, 1.42]

0.84[0.22, 1.46]

1.00 [ 0.35, 1.65]

1.25[0.65, 1.85]

1.77 [1.16, 2.38]

0.35[0.06, 0.63]

0.60 [ 0.34, 0.86]

0.67[0.33, 1.01]



A 0.0

Standard Error

Clock: GrimAge, factor: Psychosocial functioning, tissue: Blood

100%

5%

5%

5%

-1 0 1
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

0 =0.05, 5= ~0.01 | medpoyer = 5.3%, dazy = 0.11, dggy, = 0.17 | E = 0.66, O = 8, pres < 0.001, R-Index = 0%

Jamod

B

PUB572

PUB572 1

PUB022

PUB022

PUB022

PUB022 1

PUB112

PUB112

PUB183 -

PUB255

PUB255

PUB255 -

Summary -

Effect [95% Cl]

-2

-1

S

Effect

0.00 [-0.07, 0.07]

~0.04 [-0.09, 0.01

-0.21 [-0.37, -0.0¢

-0.19[-0.32, -0.0¢t

-0.13 [-0.25, -0.01

0.25[0.11, 0.39]

-1.03 [-2.05, -0.07

0.180.05, 0.31]

-0.09 [-0.21, 0.02

-0.03[-0.31, 0.25

1.23[0.08, 2.38]

1.66 [ 0.63, 2.69]

-0.01[-0.12, 0.10



Clock: GrimAge, factor: Depression, tissue: Blood

0.00 100% I
A B .
: Effect [95% CI]
]
1
1
1
PUB572 4 : -0.19 [-0.25, -0.1¢
1
1
1
1
PUB572 : -0.13[-0.18, -0.0¢
]
1
1
0.05 100% |
PUB112 - 1 0.13[0.04, 0.22]
]
1
1
PUB229 A 0.01[-0.07, 0.09]
5 PUB306 0.03[-0.16, 0.22]
w T
i s
S 8
c
& PUB306 0.50[0.28, 0.72]
0.10 99.5%
PUB306 0.52[0.22, 0.82]
PUB306 0.74[0.51, 0.98]
PUB306 - 1.22[0.90, 1.54]
0.15 85.5%
PUB306 1.83[1.50, 2.16]
05 0.0 05 10 15
Effect Summary 0.45[0.06, 0.85]
. Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 — 80 . Power 90 - 100
. Power 10 - 20 Power 30 - 40 Power 60 — 70 . Power 80 — 90

o =0.05, & = 0.45 | Medpouer = 98.9%, gy, = 0.16, degys = 0.25 | E = 9.34, O = 8, pres = 0.087, R-Index = 100% Effect



A 0.0

Standard Error

Clock: PhenoAge, factor: Depression, tissue: Blood

100%

99.8%

Jamod

- 68.4%

- 37%

Effect

. Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

o =0.05, & = 0.49 | Medponer = 60.9%, dagy, = 0.33, degys = 0.52 | E = 6.98, O = 8, pres = 0.482, R-Index = 41.9%

B

PUB572

PUB572

PUB034 -

PUB229

PUB306 -

PUB306 -

PUB306 -

PUB306 -

PUB306 -

PUB306 -

Summary -

Effect [95% CI]

Effect

-0.08 [-0.13, -0.0¢

-0.05[-0.09, —0.01

~0.02 [-0.08, 0.04

-0.04 [-0.08, 0.00

0.43[-0.21, 1.07]

0.79[0.25, 1.34]

0.93[0.50, 1.35]

1.06 [ 0.64, 1.49]

1.11[0.57, 1.66]

1.18[0.75, 1.62]

0.49[0.14, 0.83]



Standard Error

Clock: Horvath, factor: Race/ethnicity, tissue: Blood

100% T
B |
| Effect [95% CI]
1
]
1
PUB5S3 | 1.00 [-2.08, 4.08]
1
]
1
PUB583 1 0.30[-0.28, 0.88]
1
1
PUBO018 u -0.07 [-0.18, 0.04
5.1% |
PUB018 u -0.08 [-0.23, 0.06
1
1
PUB018 : -0.19 [-0.27, -0.11
1
1
]
PUB069 o 1 -0.36 [-2.77, 2.05
1
1
1
p PUB069 - : 0.34[-1.56, 2.24]
5% 3 :
1
PUB124 - 1 -0.63 [-1.75, 0.49
1
]
1
PUB140 : -1.50 [-5.92, 2.92
1
]
1
PUB140 - 1 0.37 [-6.02, 6.76]
1
1
1
PUB140 - : 3.57 [-3.48, 10.62
5% |
1
1
PUB212 o 1 2.41[1.26, 3.56]
]
1
1
PUB332 - : -0.73[-5.78, 4.32
1
1
]
PUB332 1 -0.20 [-2.55, 2.15
1
1
1
]
1
-10 -5 0 5 10 |
Effect I
Summary ' -0.09 [-0.19, 0.02
. Power 0 - 10 Power 20 - 30 Power 40 — 60 Power 70 — 80 . Power 90 - 100 :
1
. Power 10 - 20 Power 30 - 40 Power 60 — 70 . Power 80 — 90 | | | |
0

-5
o =0.05, 5= ~0.09 | Medpoyer = 5.1%, dazy, = 1.62, deey, = 2.56 | E = 1.76, O = 2, pres = 0.845, R-Index = 0% Effect



A 0.00

Standard Error

Clock: Hannum, factor: Cardiovascular disease, tissue: Blood

100%

0.25

6.1%

0.50

5.3%

0.75 5.1%

1.00 5.1%

-2 -1 0 1 2
Effect

. Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

0 = 0.05, &= 0.08 | Medponer = 5.5%, gy, = 0.59, degys = 0.93 | E = 7.65, O = 10, pres = 0.325, R-Index = 0%

Jamod

PUBG09 -

PUBS506 A

PUBO0O03

PUB003 -

PUBOO03

PUBO0O03 -

PUBO003

PUBOO03 ~

PUB003 -

PUBOO03

PUBO0O03 -

PUBO003 -

PUBOO03

PUB003 -

PUBOO03 ~

PUBO003 -

PUBO003

PUBOO03

PUB125

PUB125

PUB152

PUB152 1

PUB152

PUB152

PUB231

PUB231

PUB279 1

PUB279

PUB279

PUB279

Summary -

Effect [95% CI]

-2

0.63 [-0.28, 1.54]
0.01[0.00, 0.02]
-0.04 [-1.67, 1.59
~1.36 [-2.66, 0.0
0.04 [-1.31, 1.40]
0.21[-0.60, 1.02]
0.33[-1.30, 1.97]
0.42 [-0.84, 1.68]
0.46 [-0.98, 1.90]
0.50 [-0.99, 2.00]
0.60[0.04, 1.16]
0.60[0.11, 1.09]
0.68 [-0.18, 1.55]
0.77 [-0.16, 1.70]
0.84[0.19, 1.48]
0.91[0.18, 1.63]
1.07[0.00, 2.14]
1.25[0.05, 2.45]
0.21[0.10, 0.32]
0.23[0.13, 0.33]
0.00[0.00, 0.00]
0.00 [-0.04, 0.04]
0.01 [-0.04, 0.06]
0.02 [-0.03, 0.07]
-0.21[-1.37, 0.95
-0.63 [-2.43, 1.17
-0.12 [-0.27, 0.03
-0.09 [-0.21, 0.03
-0.08 [-0.18, 0.01

-0.06 [-0.14, 0.01

0.08 [ 0.00, 0.16]



Standard Error

0.25

0.50

0.75

Clock: Horvath, factor: Cardiovascular disease, tissue: Blood

-1 0 1 2
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

0 =0.05, &= ~0.06 | Medpoyer = 8.1%, dazy, = 0.18, dgey, = 0.28 | E = 6.6, O = 12, pres = 0.022, R-Index = 0%

100%

5.7%

5.2%

5.1%

Jamod

B

PUBG09 -
PUB506
PUBOO03 ~
PUBO003
PUBO003 -
PUBO003 -
PUBOO03
PUBO003 -
PUBO003
PUBO003 -
PUBO0O03 -
PUBOO03
PUBO003
PUBO003
PUBO003 -
PUBO0O03
PUBOO03 ~
PUBO003 -
PUBO042 1
PUBO042 1
PUBO65
PUBO065
PUBO065
PUB125
PUB125
PUB152
PUB152 1
PUB152 1
PUB279
PUB279
PUB279
PUB279 1
PUB346 1
PUB346 -
PUB346
PUB346 1
PUB346 1
PUB346 -
PUB346 -
PUB346

PUB346 1

Summary =
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Effect [95% CI]

-2

-1

0“19Q°°°°oaﬁﬂoo
afe

Effect

0.43[-0.59, 1.45]
0.01[0.00, 0.01]
-0.05 [-1.60, 1.51
-0.15[-1.16, 0.87
-0.20 [-1.22, 0.81
-0.26 [-0.83, 0.31
-1.24[-1.91, -0.5;
0.07 [-1.37, 1.52]
0.19 [-0.45, 0.84]
0.24 [-0.75, 1.24]
0.32[-0.42, 1.06]
0.40 [-0.06, 0.86]
0.41[-1.27, 2.08]
0.51[-0.22, 1.25]
0.61[-0.99, 2.20]
0.66[0.17, 1.14]
0.76 [-0.31, 1.83]
0.98 [-0.21, 2.17]
~0.46 [-0.69, —0.2:
-0.21 [-0.40, —0.0:
-0.80 [-1.54, 0.0
-0.98 [-1.72, —0.2¢
0.12[0.01, 0.23]
0.12 [-0.02, 0.26]
0.17[0.06, 0.28]
0.00[0.00, 0.00]
0.00 [-0.06, 0.05]
-0.04 [-0.09, 0.01
-0.10 [-0.25, 0.05
-0.09 [-0.21, 0.04
-0.07 [-0.17, 0.02
-0.07 [-0.14, 0.01
-0.25 [-0.44, —0.0¢
-0.22 [-0.39, 0.0t
-0.20 [-0.38, —0.0:
-0.18 [-0.37, 0.01
-0.13[-0.36, 0.10
-0.11 [-0.31, 0.09
-0.10 [-0.34, 0.14
-0.09 [-0.30, 0.12
-0.08 [-0.28, 0.12

-0.06 [-0.12, 0.00



Standard Error

Clock: PhenoAge, factor: Cardiovascular disease, tissue: Blood

-2 0 2
Effect

Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

a = 0.05, 5= ~0.07 | Medpoyer = 29.6%, dazy, = 0.08, degys = 0.12 | E = 5.67, O = 7, pres = 0.458, R-Index = 5.3%

100%

5.3%

5.1%

Jamod

B

PUBG09 -

PUB125

PUB125 1

PUB152

PUB152

PUB152 A

PUB152

PUB231 -

PUB231 1

PUB279

PUB279

PUB279 1

PUB279

Summary -

T e e e e

prg— X

Effect [95% CI]

-2

0.70 [-0.53, 1.93]

0.15[0.06, 0.24]

0.18[0.10, 0.26]

0.00[0.00, 0.00]

0.01 [-0.02, 0.04]

0.03 [-0.01, 0.06]

0.04[0.01, 0.08]

-0.98 [-2.57, 0.61

0.11[-2.36, 2.58]

-0.39 [-0.55, 0.2z

-0.35 [-0.55, —0.1¢

-0.28 [-0.38, —0.1¢

-0.27 [-0.39, -0.1+

-0.07 [-0.20, 0.05



Standard Error

Clock: Hannum, factor: Pollutant/chemical exposure, tissue: Blood

100%

5.6%

5.1%

5.1%

-5 0 5
Effect

. Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 — 70 . Power 80 — 90

a =0.05, 3= 0.22 | Medpower = 6.7%, daze = 0.87, dgsoo = 1.35 | E = 2, O = 4, pres = 0.128, R-Index = 0%

Jamod

B

PUB527 1

PUB518 1

PUB518 o

PUB518 1

PUB139 1

PUB157

PUB215 1

PUB215 +

PUB215 +

PUB215 +

PUB215 +

PUB215 +

PUB215

PUB215 +

PUB215

Summary -

Effect [95% CI]

-6

-3

0.06 [-0.28, 0.40]

-0.14 [-0.39, 0.11

-0.06 [-5.67, 5.55

-0.24 [-0.46, —0.02

0.87 [-1.88, 3.62]

1.15[0.34, 1.96]

-0.16 [-1.28, 0.96

-0.18 [-1.63, 1.27

-0.76 [-1.41, -0.11

0.03 [-1.22, 1.28]

0.47 [-0.84, 1.78]

0.49 [-0.59, 1.57]

0.49 [-0.04, 1.02]

0.83 [-0.35, 2.01]

2.28[0.89, 3.67]

0.22 [-0.13, 0.57]



A 0.0

Standard Error

Clock: Horvath, factor: Pollutant/chemical exposure, tissue: Blood

-3 0 3 6
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

= 0.05, 5= 0.17 | medponer = 6.4%, dagy, = 0.76, degys = 1.19 | E = 6.86, O = 17, pres < 0.001, R-Index = 0%

100%

6.4%

5.3%

5.2%

5.1%

Jamod

B

PUB527 1
PUB588 A
PUB588
PUBS588 -
PUBS588 -
PUB588 A
PUB588 A
PUB518
PUB518 -
PUB518 1
PUB139 1
PUB139
PUB139 -
PUB157
PUB189 1
PUB189 1
PUB189
PUB189 -
PUB189 1
PUB215 1
PUB215 +
PUB215 -
PUB215 -
PUB215 1
PUB215 1
PUB215 +
PUB215 -
PUB215 1
PUB215 1
PUB215 +
PUB215 -
PUB215 -
PUB215 1
PUB215
PUB215 +
PUB215 -
PUB215 1
PUB215 1
PUB215 +
PUB215 -
PUB215 -
PUB215 1
PUB215 +
PUB215 +
PUB215 -
PUB215 1
PUB243 1
PUB243
PUB243
PUB243 1

Summary -

Effect [95% Cl]

-4

-2

0.64[0.20, 1.08]
0.17 [-0.22, 0.56]
0.41[0.04, 0.78]
0.48[0.13, 0.83]
-0.47 [-0.88, —0.0¢
-0.30 [-0.65, 0.05
-0.31[-0.66, 0.04
-0.13[-0.40, 0.14
0.07 [-0.11, 0.25]
0.06 [-0.18, 0.30]
-1.10 [-3.26, 1.06
-0.31[-4.32, 3.70
1.20 [-1.18, 3.58]
0.44[-0.38, 1.26]
-0.18 [-0.44, 0.07
0.08[0.01, 0.15]
0.12[0.01, 0.22]
0.30[0.05, 0.55]
0.32[0.09, 0.56]
-0.10 [-1.12, 0.92
-0.18 [-0.85, 0.49
-0.27 [1.33, 0.79
-0.36 [-1.87, 1.15
-0.43 [-1.80, 0.94
-0.57 [-1.55, 0.41
-0.69 [-2.18, 0.80
-0.71[-1.81, 0.39
-0.72[-1.78, 0.34
-0.87 [-2.03, 0.29
-0.91 [-1.62, —0.2(
0.03[-1.19, 1.25]
0.09 [-1.16, 1.34]
0.09 [-1.09, 1.27]
0.23 [-1.30, 1.76]
0.60 [-0.07, 1.27]
0.63[-0.72, 1.98]
0.77 [-0.31, 1.85]
0.80 [-0.53, 2.13]
0.89 [-0.15, 1.93]
0.93 [-0.05, 1.91]
1.05[0.19, 1.91]
1.13[0.35, 1.91]
1.57[0.34, 2.80]
1.62[0.01, 3.23]
1.69[0.42, 2.96]
1.71[0.57, 2.85]
-0.48 [-1.48, 0.52
~1.36 [-2.30, 0.4
0.68 [-0.26, 1.62]
1.91[0.92, 2.90]

0.17 [ 0.00, 0.34]



Standard Error

Clock: Hannum, factor: Blood pressure, tissue: Blood

-0.5 0.0 0.5
Effect

Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

0 =0.05, &= 0.03 | Medponer = 6.8%, gy, = 0.12, degy, = 0.18 | E = 1.86, O = 3, pres = 0.356, R-Index = 0%

100%

6.1%

5.3%

5.1%

Jamod

B

PUB540 -

PUB003 -

PUB003 -

PUB124

PUB124 -

PUB124

PUB125

PUB125 -

PUB125

PUB125

Summary -

Effect [95% CI]

-0.50

-0.12[-0.66, 0.42

-0.24[-0.61, 0.12

-0.39[-0.67, —0.1(

0.00 [-0.02, 0.02]

0.00 [-0.03, 0.03]

0.01 [-0.03, 0.05]

0.04 [-0.08, 0.16]

0.11 [-0.03, 0.25]

0.240.08, 0.40]

0.27[0.06, 0.48]

0.03 [-0.05, 0.11]



Standard Error

Clock: Hannum, factor: Diabetes, tissue: Blood

A 0.0

100% B T
: Effect [95% ClI]
1
|
PUBS540 1 0.54 [-0.75, 1.83]
|
|
PUB003 i -0.63 [-1.63, 0.36]
1
|
PUB003 - | 0.60 [-0.63, 1.82]
|
|
PUB296 : 0.06 [-0.24, 0.36]
1
|
50 PUB296 - 1 0.53 [-0.03, 1.09]
|
|
PUB314 - \'| -0.02 [-0.04, 0.00]
1
PUB314 o G —-0.02 [-0.04, 0.00]
1
I
PUB314 - c: -0.02 [-0.03, 0.00]
|
PUB314 o 1 -0.01 [-0.03, 0.01]
3
5
= PUB314 - -0.01 [-0.03, 0.01]
|
5%
PUB314 o E —-0.01 [-0.02, 0.00]
|
PUB314 - 0 0.00 [-0.03, 0.02]
|
PUB314 - [ 0.01[0.00, 0.02]
PUB314 - E 0.01[0.00, 0.02]
PUB314 o 1 0.01[0.00, 0.02]
i
{
PUB314 o 0.02[0.01, 0.03]
5% I
f
PUB314 o |' 0.02[0.01, 0.03]
4
PUB314 - : 0.02[0.01, 0.03]
-l
1
PUB314 - .' 0.02[0.01, 0.03]
I
1
-2 -1 0 1 2 |
Effect I
|
Summary 0.00 [-0.01, 0.01]
. Power 0 - 10 Power 20 — 30 Power 40 — 60 Power 70 — 80 . Power 90 - 100
. Power 10 - 20 Power 30 - 40 Power 60 — 70 . Power 80 — 90 :
T T T
-1 0 1 2
o =0.05, 8= 0 | medpower = 5.9%, 3305 = 0.01, dggoe = 0.02 | E = 1.15, O = 8, pres < 0.001, R-Index = 0% Effect



A 0.0

Standard Error

0.14

0.2

0.3

0.4

-1.0

Clock: Hannum, factor: Depression, tissue: Blood

-0.5 0.0 0.5 1.0
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

o =0.05, 5= 0.21 | medpower = 31.5%, dazos = 0.22, degss = 0.35 | E =2.98, O = 2, pres = 0.472, R-Index = 37.9%

100%

- 57.3%

18.9%

11%

8.4%

Jamod

B

PUB540 -

PUB229

PUB306 -

PUB306 -

PUB306 -

PUB306 -

PUB306 -

PUB306 -

Summary =

Effect [95% CI]

Effect

0.14[-0.71, 0.99]

-0.02 [-0.08, 0.04]

-0.06 [-0.31, 0.18]

0.05 [-0.19, 0.28]

0.12 [-0.13, 0.36]

0.31 [-0.04, 0.65]

0.60[0.25, 0.94]

0.76 [0.41, 1.11]

0.21[0.00, 0.43]



A 0.0

Standard Error

-3
Power 0 - 10
Power 10 - 20

Clock: Horvath, factor: Education, tissue: Blood

0 3

Effect
Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 30 - 40 Power 60 - 70 . Power 80 - 90

= 0.05, 5= 0 | Medpower = 5%, dazy, = 0.62, degys = 0.97 | E = 0.6, O = 1, pres = 0.596, R-Index = 1.7%

100%

5%

5%

5%

Jamod

B

PUB604 -

PUBO018 A

PUBO018

PUBO018

PUB106 -

PUB140

PUB140

PUB140 -

PUB188 -

PUB188 1

PUB188

PUB332 -

Summary -

e - _

0.0

25
Effect

5.0

7.5

Effect [95% Cl]

-0.51 [-1.87, 0.85]

~0.01 [0.10, 0.07]

-0.04 [-0.15, 0.07]

0.00 [-0.09, 0.09]

0.04 [-0.04, 0.12]

1.95[-0.25, 4.15]

2.13[-1.42, 5.68]

4.44[1.34, 7.54]

-0.40 [-1.20, 0.40]

-0.39 [-1.19, 0.41]

~0.28 [-1.05, 0.49]

0.48 [-0.85, 1.81]

0.00 [-0.04, 0.04]



A 0.0

Standard Error

-15

Clock: Horvath, factor: Lead (Pb), tissue: Blood

100%

5%

5%

5%

5%

5%

-1.0 -0.5 0.0 0.5 1.0 15
Effect

Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

o =0.05, &= 0 | medpoyer = 5.1%, dagy, = 0.01, degy, = 0.01 | E = 0.84, O = 0, pres = 0.348, R-Index = 10.1%

Jamod

B

PUBG04

PUB221

PUB221 1

PUB221

PUB221

PUB221

PUB221 1

PUB221

PUB221

PUB221

PUB221

PUB221

PUB221 -

PUB243 1

PUB332

PUB332

Summary

1.0

Effect [95% CI]

-0.08 [-0.58, 0.42]

0.00 [-0.01, 0.01]

0.00 [-0.01, 0.00]

0.00 [ 0.00, 0.00]

0.00 [-0.01, 0.01]

0.00 [-0.01, 0.01]

0.00 [ 0.00, 0.00]

0.00 [-0.01, 0.01]

0.00 [ 0.00, 0.00]

0.00 [ 0.00, 0.00]

0.00 [-0.01, 0.01]

0.00 [-0.01, 0.01]

0.00[ 0.00, 0.01]

0.40 [-0.59, 1.39]

-0.38 [-1.33, 0.57]

~0.08 [-0.50, 0.34]

0.00 [ 0.00, 0.00]



Standard Error

Clock: Horvath, factor: Total cholesterol, tissue: Blood

100%

5.1%

5%

5%

-1 0 1
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

0 =0.05, 5= -0.01 | Medpoyer = 5%, dazy, = 0.43, degys = 0.67 | E = 0.35, O = 1, pres = 0.264, R-Index = 0%

Jamod

PUBG04

PUBO003 -

PUB003 -

PUBOG5 -

PUBO065 -

PUBO065

PUB125 1

Summary -

Effect [95% CI]

Effect

0.26 [-0.30, 0.82]

0.49 [-0.33, 1.31]

0.84 [-0.28, 1.95]

-0.18[-0.68, 0.32

~0.36 [-0.59, —0.1

0.15[-0.34, 0.64]

-0.22[-0.77, 0.33

-0.01[-0.29, 0.26



A 0.0

Standard Error

-4

Clock: PhenoAge, factor: Pollutant/chemical exposure, tissue: Blood

-2 0 2 4
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

a =0.05, 3= 0.45 | Medponer = 22.4%, daze = 0.57, dgseo = 0.89 | E = 6.42, O = 7, pres = 0.781, R-Index = 9.8%

100%

14.6%

7.3%

Jamod

B

PUB518 -

PUB518

PUB518 -

PUB139

PUB157

PUB215 +

PUB215 1

PUB215 1

PUB215 1

PUB215 -

PUB215 -

PUB215 -

PUB215 -

PUB215 +

PUB327

PUB327

PUB327 1

PUB327 1

PUB327

PUB327 -

Summary =

Effect [95% CI]

-2

ffect

0.06 [-0.28, 0.40]

0.19 [-0.03, 0.41]

~0.05 [-0.35, 0.25]

0.15 [-2.53, 2.83]

0.77 [-0.26, 1.80]

~0.63 [-2.00, 0.74]

-0.67 [-1.65, 0.31]

-0.73 [-2.14, 0.68]

0.16 [-0.60, 0.92]

0.32 [-0.39, 1.03]

0.46 [-0.62, 1.54]

0.70 [-0.65, 2.05]

0.97 [-0.15, 2.09]

0.97[0.19, 1.75]

0.73[0.23, 1.23]

0.73[0.25, 1.21]

0.76 [ 0.29, 1.23]

0.79[0.30, 1.28]

0.98 [ 0.36, 1.60]

1.10[0.49, 1.71]

0.45[0.23, 0.67]



A 0.0

Standard Error

Clock: Horvath, factor: Blood pressure, tissue: Blood

100%

0.1 80.6%

0.2+ 29.2%

0.3 15.6%

0.4 10.9%

-1.0 -0.5 0.0 0.5 1.0
Effect
. Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
. Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

o =0.05, 5= 0.28 | Medpower = 29.5%, daz0 = 0.3, desop = 0.47 | E = 12.44, O = 14, pres = 0.559, R-Index = 10.8%

o)

19MO,

B

PUBO003 -

PUBOO03 ~

PUBO047 =

PUBO047 =

PUBO047 =

PUBO047 =

PUBO047 =

PUBO047 1

PUBO047 1

PUBO047 1

PUBO047 1

PUBO047 1

PUBO047 1

PUBO047 1

PUBO047 1

PUBO047 1

PUB047

PUB047

PUBO65 -

PUBO65 -

PUBO65 -

PUB124 -

PUB124

PUB124

PUB124

PUB125 -

PUB125

PUB125

PUB125

Summary =

‘“"""".mom““"

| 0009

Effect [95% Cl]

O mpm == == o= = = = =

-1
Effect

-0.17 [-0.53, 0.20
-0.19 [-0.43, 0.05
-0.19 [-0.92, 0.54
-0.12 [-0.86, 0.61
-0.09 [-0.81, 0.63
-0.06 [-0.78, 0.66
0.42 [-0.21, 1.04]
0.47 [-0.15, 1.09]
0.47 [-0.14, 1.08]
0.49 [-0.11, 1.09]
0.61[0.23, 0.98]
0.61[0.22, 1.00]
0.62[0.24, 1.01]
0.64[0.27, 1.01]
1.12[0.63, 1.61]
1.15[0.65, 1.65]
1.18[0.67, 1.69]
1.19[0.70, 1.68]
-0.31[-0.98, 0.35
-0.50 [-1.17, 0.16
0.08 [-0.09, 0.26]
-0.04 [-0.06, —0.0:
-0.03 [-0.08, 0.02
-0.02 [-0.04, 0.00
0.00 [-0.03, 0.03]
0.16[0.01, 0.31]
0.22[0.03, 0.41]
0.23[0.06, 0.40]

0.37[0.11, 0.63]

0.28[0.12, 0.44]



A 0.0

Standard Error

Clock: Hannum, factor: Cancer, tissue: Blood

-4 0 4
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

a =0.05, 3= 0.54 | Medpower = 9.7%, daze = 1.29, dggoo = 2.01 | E = 5.05, O = 6, pres = 0.651, R-Index = 4.1%

100%

18.9%

8.4%

6.5%

5.8%

5.5%

Jamod

B

PUBO003 -
PUBO003
PUBO003 -
PUBO0O03 ~
PUBO003
PUBO003 -
PUBO003 -
PUBOO03 ~
PUBO003
PUBO003
PUBO003 -
PUBOO03 ~
PUBO003
PUBO003 -
PUBO0O03
PUBOO03
PUBO003
PUBO003 -
PUBOO03
PUBO003
PUBO035
PUB283
PUB283
PUB283 1
PUB283 1
PUB283
PUB283
PUB283 1
PUB283 1
PUB283
PUB283
PUB283 1
PUB283
PUB283
PUB283
PUB283 1
PUB283
PUB283

PUB283

Summary =

HH{“HWMHNHM

i
3

i

¢

Effect [95% Cl]

-4

e D S DY SR | E——

Effect

-0.04 [-0.90, 0.82]
-0.36 [-2.04, 1.32]
-0.41[-1.97, 1.15]
-0.49 [-2.23, 1.24]
-0.51 [-1.98, 0.96]
-0.73 [-2.48, 1.02]
-0.75 [-1.97, 0.48]
0.08 [-1.53, 1.69]
0.12 [-1.66, 1.91]
0.13 [-1.42, 1.68]
0.16 [-1.44, 1.77]
0.31[-1.42, 2.03]
0.39 [-0.04, 0.83]
0.42 [-0.61, 1.44]
0.47 [-0.09, 1.04]
0.61 [-0.53, 1.76]
0.63 [-1.19, 2.45]
0.65 [-0.98, 2.29]
0.74 [-0.62, 2.11]
1.00 [-0.66, 2.66]
-0.01 [-1.72, 1.69]
-2.35[-7.12, 2.42]
~1.92 [-5.20, 1.36]
~1.66 [-3.76, 0.44]
~0.66 [-2.80, 1.48]
-0.24 [-1.93, 1.45]
-0.19 [-2.69, 2.31]
0.23 [-1.52, 1.98]
0.40 [-1.06, 1.86]
0.78 [-0.57, 2.13]
0.97 [-0.80, 2.74]
1.12[0.09, 2.15]

1.50 [-0.30, 3.30]
1.95 [ 0.50, 3.40]

1.98[0.65, 3.31]

2.31[-0.24, 4.86]
2.89[1.02, 4.76]

3.18[ 1.84, 4.52]

4.33[2.53, 6.13]

0.54[0.19, 0.88]



A 0.0

Standard Error

-4

100% T
B 1
|
PUB003 T T
|
PUB003 ||| o
1
PUB003 - 1
1
PUB003 - 0
PUB003 A o i
1
PUB003 ——
PUB003 - R 1 -
1
PUB003 T— —
PUB003 - ‘_
PUB003 - d_
13.3% PUB003 - d—
PUB003 - o
]
PUB003 I E—
1
PUB003 o ] e
1
PUB003 |
1
-%U PUB003 - |— —
@D
= PUB003 - *—
PUB003 o _—
1
PUB003 T —
1
PUB003 (I
1
PUBO035 o T
1
o PUB035 i T
(]
1
PUB283 IR —
|
PUB283 A ] o
|
PUB283 TR
1
PUB283 TN
1
PUB283 - :
PUB283 - Ih —
PUB283 : T
1
PUB283 | T
1
PUB283 - | s |
1
PUB283 A | T
1
PUB283 |
-2 0 2 4 i
Effect PUB283 1
1
|
Power 0 - 10 Power 20 — 30 Power 40 — 60 Power 70 — 80 . Power 90 — 100 |
Summary | ‘
1
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90 |
T L] T T
-2 0 2 4
o =0.05, & = 0.42 | Medpoyer = 8.5%, dagy, = 1.16, degy, = 1.82 | E = 3.94, O = 8, pres = 0.03, R-Index = 0% Effect

Clock: Horvath, factor: Cancer, tissue: Blood

Effect [95% Cl]

-0.08 [-1.63, 1.47]
-0.27 [-1.87, 1.33]
-0.30 [-1.43, 0.83]
-0.30 [-0.84, 0.24]
-0.31 [-2.04, 1.43]
-0.50 [-1.68, 0.69]
-0.61 [-1.44, 0.21]
-0.64 [-2.39, 1.10]
0.01 [-1.02, 1.05]
0.06 [-1.09, 1.22]
0.07 [-0.98, 1.13]
0.17 [-0.38, 0.72]
0.18 [-1.67, 2.04]
0.21[-1.19, 1.60]
0.40 [ 0.00, 0.80]

0.48 [-1.22, 2.19]
0.51[-0.94, 1.96]
0.61 [-0.79, 2.00]
0.71 [-1.03, 2.45]
0.83 [-0.87, 2.53]
0.00 [-1.43, 1.43]
2.27[0.72, 3.82]

0.08 [-1.64, 1.80]
0.14 [-1.25, 1.53]
0.33[-1.25, 1.91]
0.37 [-0.89, 1.63]
0.38 [-1.72, 2.48]
0.54 [-1.25, 2.33]
1.81[0.19, 3.43]

2.15[0.44, 3.86]

2.18[0.87, 3.49]

2.48[1.09, 3.87]

3.10[0.73, 5.47]

3.29[0.64, 5.94]

0.42[0.13, 0.71]



A 0.0

Standard Error

Clock: Horvath, factor: Diabetes, tissue: Blood

100%

5%

5%

5%

-1 0 1
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

a =0.05, 3= 0.01 | Medpower = 7.1%, daze = 0.03, dgse = 0.04 | E = 1.44, O = 0, pres = 0.215, R-Index = 14.1%

Jamod

B

PUBO003 -

PUBO003 -

PUBO0G65 -

PUBO065 -

PUBO065 -

PUB296 -

PUB296 -

PUB314

PUB314 -

PUB314

PUB314

PUB314 1

PUB314 1

PUB314 1

PUB314 1

PUB314 1

PUB314 1

PUB314

PUB314

PUB314 +

PUB314

Summary -

O e iy ety e Ry - S P~ P — W D~~~ D e e e ]

Effect

Effect [95% Cl]

-0.02 [-0.85, 0.80]

0.92 [-0.32, 2.15]

-0.12 [-0.74, 0.49]

-0.18 [-0.80, 0.44]

0.12 [-0.28, 0.51]

0.09 [-0.23, 0.41]

0.46 [-0.21, 1.13]

-0.01 [-0.04, 0.02]

-0.01 [-0.05, 0.03]

0.00 [-0.02, 0.03]

0.00 [-0.02, 0.03]

0.00 [-0.02, 0.03]

0.01 [-0.02, 0.04]

0.01 [-0.01, 0.03]

0.01 [-0.02, 0.04]

0.01 [-0.02, 0.04]

0.01 [-0.03, 0.05]

0.01 [-0.02, 0.05]

0.02 [-0.01, 0.05]

0.02 [-0.01, 0.05]

0.04 [-0.01, 0.09]

0.01[0.00, 0.02]



Standard Error

Clock: Horvath, factor: Diet, tissue: Blood

-2 0 2
Effect

Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

o =0.05, 5= -0.02 | Medponer = 5%, dags = 1.13, dggss = 1.77 | E = 1.58, O = 0, pres = 0.196, R-Index = 10%

100%

5%

5%

5%

Jamod

PUBO003

PUBOO03 ~

PUBO65

PUBOG5

PUBO75

PUBO75

PUBO75

PUBO75

PUBO75 A

PUBO75 A

PUBO75

PUBO75 A

PUBO75 1

PUBO75 A

PUBO75 A

PUBO75 1

PUBO75 -

PUBO75

PUBO75

PUBO75 -

PUBO75 -

PUBO75 -

PUBO75

PUBO75

PUB171

PUB171 4

PUB171

PUB171

PUB229

Summary -

Effect [95% Cl]

-3

-2

-1

Cdmt o A A &V 1 1 1 4 <+ 8 ¥ 8 f 0 % ¥ 1 ! 5 %  C @ % @ % e

Effect

0.20 [-1.35, 1.75]
0.74 [-0.99, 2.46]
0.23[-0.36, 0.82]
0.59 [-0.01, 1.19]
~1.00 [-2.43, 0.43]
-0.98 [-2.44, 0.48]
-0.89 [-2.90, 1.12]
-0.78 [-2.18, 0.62]
-0.78 [-2.66, 1.10]
-0.75 [-2.30, 0.80]
-0.74[-2.17, 0.69]
-0.71[-2.27, 0.85]
-0.70 [-2.18, 0.78]
-0.68 [-2.17, 0.81]
-0.63 [-2.32, 1.06]
-0.60 [-2.44, 1.24]
-0.53 [-2.59, 1.53]
-0.32 [-2.23, 1.59]
-0.14 [-1.87, 1.59]
-0.07 [-1.94, 1.80]
0.16 [-0.64, 0.96]
0.17 [-0.64, 0.98]
0.52 [-0.41, 1.45]
0.54 [-0.40, 1.48]
-0.10 [-0.35, 0.15]
0.00 [-0.25, 0.25]
0.00 [-0.30, 0.30]
0.00 [-0.25, 0.25]

-0.02 [-0.06, 0.02]

-0.02 [-0.06, 0.02]



Standard Error

0.25

0.50

0.75

Clock: Hannum, factor: Diet, tissue: Blood

-1 0 1 2
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

a = 0.05, 5= ~0.09 | Medpoyer = 11.4%, dazy, = 0.19, degys = 0.3 | E = 1.69, O = 1, pres = 0.551, R-Index = 10.3%

100%

6.6%

5.4%

5.2%

Jamod

B

PUB003 -

PUB003 -

PUB171

PUB171 -

PUB171 4

PUB171 4

PUB171 4

PUB229 1

Summary =

Effect [95% CI]

-1

O = == = = - -

Effect

0.81[-0.61, 2.23]

0.86 [-0.83, 2.55]

-0.10 [-0.35, 0.15

-0.10[-0.35, 0.15

-0.20 [-0.45, 0.05

-0.30[-0.50, —0.1(

0.00 [-0.30, 0.30]

-0.01[-0.05, 0.03

~0.09 [-0.20, 0.01



Standard Error

-4

Clock: GrimAge, factor: Alcohol consumption, tissue: Blood

-2 0 2 4
Effect

Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

o =0.05, 3= 0.12 | medpower = 13.2%, daze6 = 0.22, desso = 0.35 | E = 9.14, O = 14, pres = 0.055, R-Index = 0%

100%

5.7%

5.2%

5.1%

Jamod

B

PUBO0O06

PUBO0O06

PUB00G -

PUB018 -

PUB018 -

PUB027

PUB027

PUB027

PUB027

PUB046 -

PUB046 -

PUB049 -

PUB100 -

PUB100 -

PUB106 -

PUB112

PUB124

PUB124

PUB140 -

PUB169

PUB209 -

PUB209 -

PUB230 -

PUB251 -

PUB251 -

PUB251 -

PUB251 -

PUB251 -

PUB251 -

PUB251 -

PUB251 -

Summary -

ﬂ_______o___.:..go_____

-

-

-

Effect [95% CI]

-2

e S | S - S S —

Effect

~0.38 [-0.63, 0.1
0.03 [-0.01, 0.08]
0.16 [-0.06, 0.37]
~0.02 [-0.06, 0.01
0.19[0.04, 0.34]
0.05 [-0.16, 0.26]
0.19[0.01, 0.37]
0.27[0.04, 0.50]
0.30[0.12, 0.48]
0.03[0.01, 0.06]
0.07 [ 0.05, 0.10]
0.05[0.04, 0.07]
0.14 [-0.74, 1.02]
0.85[-0.23, 1.93]
0.16[0.12, 0.20]
0.95[-0.13, 2.03]
-0.17 [-0.97, 0.63
0.44[-0.33, 1.21]
0.54 [-2.18, 3.26]
0.94[-0.13, 2.01]
0.08 [-0.46, 0.61]
0.14[-0.23, 0.52]
0.37[0.08, 0.66]
~0.30 [-0.55, —0.0¢
-0.27 [-0.51, —0.0:
0.32[-0.11, 0.74]
0.34[-0.09, 0.77]
0.52[0.08, 0.95]
0.53[0.12, 0.93]
0.66 [-0.18, 1.50]

0.69 [-0.16, 1.53]

0.12[0.04, 0.20]



A 0.0

Standard Error

Clock: GrimAge, factor: HIV, tissue: Blood

100%

0.4 83.1%

0.8 1 - 30.9%

12 16.4%

-5.0 -25 0.0 25
Effect

. Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

o =0.05, 5= 1.17 | medpower = 27.6%, daas = 1.3, desso = 2.04 | E = 2.96, O = 6, pres = 0.026, R-Index = 0%

o)
Q

=

]
=

B

PUB00G -

PUB00G -

PUB123

PUB123 -

PUB123 1

PUB140 -

PUB140 -

PUB140 -

Summary =

Effect [95% CI]

-3

Effect

-4.93 [-6.38, —3.4¢

2.63[1.51, 3.75]

2.76[0.98, 4.54]

2.81[0.34, 5.28]

2.82[1.04, 4.60]

-0.05[-0.20, 0.10

1.26 [-1.57, 4.09]

2.45[0.86, 4.04]

1.17 [-0.75, 3.08]



Standard Error

0.5

1.0

15

2.0 1

Clock: PhenoAge, factor: HIV, tissue: Blood

100%

100%

99.1%

82.1%

F57.9%

0 5
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

o= 0.05, & = 4.32 | Medpoyer = 95.7%, dagy, = 1.79, degys = 2.79 | E = 7.99, O = 6, pres = 0.035, R-Index = 100%

Jamod

B

PUB00G -

PUBOOG

PUB123

PUB123

PUB123

PUB140

PUB140 -

PUB140

PUB140 -

Summary 4

Effect

Effect [95% CI]

3.02[1.32, 4.72]

7.56 [ 5.25, 9.86]

2.44[-0.23, 5.11]

7.26[5.33, 9.19]

7.32[5.39, 9.25]

0.06 [-0.18, 0.30]

2.26 [-2.20, 6.72]

3.29[0.14, 6.44]

5.43 [ 2.95, 7.91]

4.32[2.42,6.21]



N
1

Standard Error

-10

Power 0 - 10

Power 10 - 20

Power 20 - 30

Power 30 - 40

Clock: Horvath, factor: HIV, tissue: Blood

100%

= 77.2%

= 27.2%

14.7%

10.4%

10
Effect

Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 60 — 70 . Power 80 — 90

o =0.05, 5= 2.7 | Medpower = 48.6%, Oazo, = 2.14, desos = 3.33 | E = 13.25, O = 12, pres = 0.597, R-Index = 44.9%

Jamod

B

PUBO0OG -

PUBO0O06

PUB123 1

PUB123

PUB123

PUB133 -

PUB133

PUB133

PUB133 1

PUB133

PUB133 1

PUB140

PUB140 -

PUB140

PUB140 -

PUB140

PUB140 -

PUB140 1

PUB140

PUB140 -

PUB140

PUB140 -

PUB212 1

Summary

Effect [95% CI]

Effect

3.32[2.02, 4.62]
3.45[1.94, 4.97]
0.05 [-2.06, 2.16]
2.55[1.07, 4.03]
2.56 [ 1.07, 4.05]
0.20 [-1.70, 2.10]
0.21[-2.90, 3.32]
18.00 [10.10, 25.9C
5.84[3.09, 8.59]
7.96 [ 3.63, 12.29]
9.28[4.08, 14.48]
~1.27 [-5.23, 2.69
-0.01[-0.23, 0.20
0.19 [-0.11, 0.49]
0.25[-0.12, 0.62]
0.57 [-1.72, 2.86]
2.84[-2.78, 8.46]
3.44[-0.19, 7.07]
3.92[0.33, 7.51]
4.72[1.16, 8.28]
5.88 [-0.84, 12.60
6.74[3.71, 9.77]

0.27[0.14, 0.40]

2.70[1.51, 3.90]



A 0.0

Standard Error

Clock: Horvath, factor: Psychosocial adversity, tissue: Blood

B i\

-1 0 1
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

100% B

PUBO015 1
PUBO015 -
PUB138
8.7% PUB138 1
PUB138

PUB306

PUB306 -

Jamod

PUB306 -

5.9%

PUB306

PUB306 -

PUB306 -

PUB306

5.4%

PUB306 -

PUB306

Summary =

<

Effect [95% CI]

0 =0.05, = ~0.11 | medpower = 8.9%, dazy, = 0.3, dggs = 0.46 | E = 1.32, O = 3, preg = 0.123, R-Index = 0%

-2

-1

Effect

|
|
i
0

~0.61[-1.90, 0.68

0.00 [-0.39, 0.39]

-0.29 [-0.54, 0.0«

~0.26 [-0.65, 0.14

-0.18 [-0.47, 0.10

-0.56 [-0.95, —-0.1¢

~0.40 [-0.80, 0.00

-0.24[-0.62, 0.15

-0.20 [-0.60, 0.19

-0.16 [-0.53, 0.21

-0.13[-0.51, 0.25

0.30 [-0.03, 0.63]

0.30 [-0.03, 0.64]

0.33[0.00, 0.66]

-0.11 [-0.26, 0.04



A 0.0

Standard Error

Clock: DunedinPoAm, factor: Alcohol consumption, tissue: Blood

100%

5%

5%

5%

-1 0 1
Effect

Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

= 0.05, 5= 0.01 | Medponer = 15.4%, dagy, = 0.01, dggy, = 0.02 | E = 3.25, O = 5, pres = 0.278, R-Index = 0%

Jamod

B

PUBO018

PUBO018

PUB112 1

PUB209

PUB209 -

PUB251 -

PUB251 1

PUB251

PUB251 -

PUB251 -

PUB251 +

PUB251 -

PUB251 -

PUB326 1

PUB326

PUB326 -

Summary

) L —

—_ ——— -

— ==

-

Effect [95% CI]

0.0
Effect

0.5

1.0

-0.04 [-0.12, 0.04]

0.10 [-0.21, 0.40]

-0.03 [-1.19, 1.13]

-0.01 [-0.01, 0.00]

0.01[0.00, 0.01]

0.00 [-0.01, 0.00]

0.00 [-0.01, 0.00]

0.00 [-0.01, 0.01]

0.00[ 0.00, 0.01]

0.01 [ 0.00, 0.02]

0.01 [ 0.00, 0.02]

0.03[0.01, 0.04]

0.03[0.01, 0.04]

~0.05 [-0.23, 0.14]

-0.03 [-0.44, 0.39]

0.18 [-0.25, 0.61]

0.01 [ 0.00, 0.01]



A 0.0

Standard Error

Clock: GrimAge, factor: BMI, tissue: Blood

Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

o =0.05, 5= 0.34 | medpower = 73.9%, dazos = 0.2, desss = 0.31 | E = 21.94, O = 17, pres = 0.06, R-Index = 94.6%

100%

- 39.8%

13.6%

8.8%

Jamod

B

PUBO018
PUBO018
PUBO018 1
PUBO029 -
PUBO50 ~
PUBO050 -
PUBO050 -
PUBO050 -
PUBO050 -
PUBO050 -
PUBO050 -
PUBO50
PUBO053 1
PUBO053 -
PUBO61
PUBO061 A
PUB100 -
PUB100 -
PUB106
PUB112 1
PUB124 4
PUB124
PUB140 1
PUB211
PUB251
PUB251 1
PUB251
PUB251 -
PUB251
PUB251 1
PUB251 -

PUB251

Summary =

L =

oo

©
-

o e

‘00

Effect [95% CI]

-1

O == o o = = —— -

Effect

0.00 [-0.05, 0.05]
0.04 [-0.02, 0.09]
0.17[0.10, 0.24]
0.15[0.07, 0.24]
-0.30 [-1.26, 0.66
-0.10 [-1.06, 0.86
0.40[0.17, 0.63]
0.59[0.36, 0.82]
0.84[0.55, 1.13]
1.16[0.88, 1.44]
1.79 [ 1.44, 2.14]
2.15[1.82, 2.48]
0.20[0.03, 0.36]
0.30[0.16, 0.45]
0.04 [-0.07, 0.14]
0.04 [-0.05, 0.12]
0.80[0.11, 1.49]
2.53[1.28, 3.78]
0.12[0.06, 0.18]
0.03 [-0.05, 0.11]
-0.11 [-0.18, 0.0«
-0.01[-0.09, 0.07
-0.12 [-0.24, 0.00
0.07[0.03, 0.11]
-0.39[-0.89, 0.11
-0.37[-0.87, 0.13
0.01[-0.29, 0.30]
0.05 [-0.23, 0.33]
0.35[-0.15, 0.86]
0.39 [-0.11, 0.89]
0.47[0.18, 0.76]
0.59[0.29, 0.90]

0.34[0.14, 0.54]



Standard Error

0.02

0.04

0.06

Clock: DunedinPoAm, factor: BMI, tissue: Blood

100%

6%

5.3%

5.1%

Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

a =0.05, 3= 0.01 | Medponer = 22.1%, daze = 0.01, dess = 0.01 | E = 4.23, O = 5, pres = 0.66, R-Index = 10.9%

Jamod

B

PUBO018 1

PUBO018 1

PUBO018 1

PUB112 1

PUB211 1

PUB251

PUB251 1

PUB251

PUB251 +

PUB251

PUB251 +

PUB251

PUB251 +

PUB326

PUB326

Summary -

S T e ——— e ——————|

&S @

i

o
o

0.2
Effect

0.4

Effect [95% CI]

0.04 [-0.06, 0.13]

0.11[0.01, 0.21]

0.39[0.26, 0.52]

0.00 [-0.08, 0.08]

0.00 [ 0.00, 0.00]

0.00[ 0.00, 0.01]

0.00 [ 0.00, 0.01]

0.00 [-0.01, 0.01]

0.00 [-0.01, 0.01]

0.01[0.00, 0.02]

0.01[0.00, 0.02]

0.01[0.00, 0.02]

0.01[0.01, 0.02]

0.05 [-0.04, 0.14]

0.08 [-0.01, 0.18]

0.01[0.00, 0.01]



Standard Error

Clock: Horvath, factor: Childhood adveristy, tissue: Blood

100%

6.6%

5.4%

5.2%

5.1%

5.1%

-1 0 1
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

0 =0.05, &= 0.04 | Medponer = 5.2%, dagy, = 0.39, degys = 0.61 | E = 1.04, O = 2, pres = 0.327, R-Index = 0%

Jamod

B

104

11 1

12 A

134

Summary -

Effect [95% CI]

-1

T T @ @ e O

Effect

-0.01 [-0.10, 0.08]

0.03 [-0.09, 0.15]

0.04 [-0.04, 0.12]

0.04 [-0.06, 0.14]

0.03 [-0.07, 0.13]

0.03 [-0.09, 0.15]

-0.45 [-1.47, 0.57]

0.14 [-0.37, 0.65]

0.16 [-0.36, 0.68]

0.49 [-0.51, 1.49]

0.76 [ 0.25, 1.27]

0.80 [ 0.30, 1.30]

0.06 [-0.55, 0.67]

0.04 [ 0.00, 0.08]



A 0.0

Standard Error

Clock: PhenoAge, factor: Childhood adveristy, tissue: Blood

-1 0 1 2
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

a = 0.05, 5= 0.03 | Medponer = 6.5%, gy = 0.12, degys = 0.25 | E = 0.85, O = 1, pres = 0.865, R-Index = 4.8%

100%

5.2%

5.1%

5%

Jamod

B

PUB018 -

PUBO018 A

PUBO018

PUBO018

PUB071

PUBO071 1

PUB113

PUB113

PUB113

PUB197 1

PUB197

PUB211

Summary -

Effect [95% Cl]

-2

Effect

-0.02 [-0.12, 0.07]

-0.04 [-0.12, 0.04]

0.02 [-0.07, 0.11]

0.09 [-0.02, 0.21]

0.09 [-0.69, 0.87]

0.32[0.01, 0.63]

0.06 [-0.25, 0.37]

0.06 [-0.06, 0.18]

0.07 [-0.03, 0.17]

-0.53 [-1.85, 0.79]

0.42 [-0.88, 1.72]

0.21[-0.91, 1.33]

0.03 [-0.02, 0.07]



Standard Error

Clock: Hannum, factor: Childhood adveristy, tissue: Blood

100%

5.1%

5%

5%

5%

-1.0 -0.5 0.0 0.5 1.0
Effect

Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

a = 0.05, 5= 0.01 | Medpoer = 5.4%, dags, = 0.07, dggy = 0.11 | E = 0.53, O = 0, pres = 0.454, R-Index = 10.9%

Jamod

PUB018 -

PUB018 -

PUB018 -

PUB018 -

PUB113 -

PUB113 1

PUB113

PUB197 1

PUB197

PUB211

Summary -

1.0

15

Effect [95% CI]

0.00 [-0.08, 0.08]

0.00 [-0.08, 0.08]

0.00 [-0.09, 0.10]

0.02 [-0.07, 0.10]

-0.06 [-0.31, 0.19]

0.01 [-0.07, 0.09]

0.03 [-0.05, 0.11]

-0.43 [-1.31, 0.45]

0.61 [-0.24, 1.46]

-0.28 [-1.14, 0.58]

0.01 [-0.02, 0.04]



Standard Error

Clock: DunedinPoAm, factor: Childhood adveristy, tissue: Blood

100%

0.2 7.2%

N
~

5.5%

0.6

5.2%

0.8 5.1%

-2 -1 0 1 2
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

o= 0.05, &= 0.09 | Medpoyer = 6.4%, dagy, = 0.39, degy, = 0.6 | E = 8.07, O = 9, pres = 0.717, R-Index = 0%

Jamod

B

PUBO018 -
PUBO018 -
PUBO018
PUBO018 1
PUB112 1
PUB112 1
PUB112 1
PUB112
PUB112
PUB112 1
PUB112 1
PUB112 1
PUB112 1
PUB112
PUB112
PUB112 1
PUB112 1
PUB112 1
PUB112 1
PUB112
PUB112 1
PUB112 1
PUB112 1
PUB112 1
PUB112
PUB112
PUB112 1
PUB112 1
PUB112 1
PUB211 -
PUB252
PUB252 1
PUB252 A
PUB252
PUB326 -
PUB326
PUB326
PUB326 1
PUB326 1
PUB326 -
PUB326 -
PUB326
PUB326 1
PUB326 1

Summary =

Effect [95% CI]

-2

0.02 [-0.14, 0.17]
0.02 [-0.09, 0.13]
0.04 [-0.08, 0.17]
0.26 [ 0.09, 0.44]
-0.76 [-2.26, 0.74
-0.60 [-2.01, 0.81
-0.58 [-1.98, 0.82
~0.46 [-2.04, 1.12
-0.38[-1.88, 1.12
-0.32 [-1.25, 0.61
-0.31[-1.78, 1.16
-0.28 [-1.87, 1.31
-0.16 [-1.73, 1.41
0.11[-0.32, 0.54]
0.12[-0.78, 1.02]
0.19 [-1.10, 1.48]
0.20 [-0.23, 0.63]
0.29 [-0.21, 0.79]
0.30 [-0.98, 1.58]
0.33[-0.16, 0.82]
0.44 [-0.64, 1.52]
0.45 [-0.05, 0.95]
0.65 [-0.36, 1.66]
0.71[-0.29, 1.71]
0.81[-0.37, 1.99]
0.88 [-0.29, 2.05]
0.94[-0.11, 1.99]
1.06 [-0.12, 2.24]
1.16[0.11, 2.21]
0.01[0.00, 0.02]
0.13[0.07, 0.19]
0.16[0.08, 0.24]
0.18[0.09, 0.26]
0.18[0.10, 0.27]
-0.28 [-0.56, -0.01
-0.08 [-0.34, 0.17
-0.08 [-0.35, 0.19
-0.02 [-0.11, 0.07
0.00 [-0.09, 0.09]
0.02 [-0.08, 0.12]
0.06 [-0.27, 0.38]
0.10[0.00, 0.20]
0.24 [-0.10, 0.58]
0.28[0.05, 0.51]

0.09[0.04, 0.13]



A 0.0

Standard Error

Power 0 - 10

Power 10 - 20

Power 20 - 30

Power 30 - 40

Clock: GrimAge, factor: Childhood adveristy, tissue: Blood

0 1
Effect

Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 60 - 70 . Power 80 — 90

100%

- 53%

17.5%

10.4%

8%

o =0.05, 5= 0.41 | medpower = 19%, daz0 = 0.57, dess = 0.9 | E = 17.48, O = 16, pres = 0.64, R-Index = 0%

o)

19MO,

B

PUBO018 -
PUBO018
PUBO018
PUBO018 1
PUBO071 1
PUBO071 1
PUB112
PUB112 1
PUB112 1
PUB112 1
PUB112
PUB112
PUB112 1
PUB112 1
PUB112
PUB112
PUB112
PUB112 1
PUB112 1
PUB112
PUB112
PUB112 1
PUB112 1
PUB112 1
PUB112
PUB112
PUB112 1
PUB112 1
PUB112
PUB112
PUB112
PUB113 1
PUB113 1
PUB113 1
PUB197
PUB197 1
PUB211 1
PUB252
PUB252
PUB252

PUB252 1

Summary =

©0o0e

'

Effect [95% CI]

e S ——

= -

Effect

0.02 [-0.04, 0.07]
0.02 [-0.04, 0.09]
0.05 [-0.01, 0.11]
0.09 [-0.02, 0.19]
1.281.18, 1.38]
1.320.50, 2.14]
-0.57 [1.95, 0.81]
-0.11 [-1.51, 1.29]
-0.04 [-1.42, 1.34]
-0.01 [-1.13, 1.11]
0.02 [-1.10, 1.14]
0.27 [-0.07, 0.61]
0.35[0.01, 0.69]
0.39 [-1.05, 1.83]
0.44 [-0.36, 1.24]
0.46 [-0.57, 1.49]
0.48[0.02, 0.94]
0.51[-0.29, 1.31]
0.59[0.00, 1.18]
0.60 [-0.87, 2.07]
0.63 [-0.45, 1.71]
0.65 [-0.37, 1.67]
0.66 [-0.08, 1.40]
0.69[0.00, 1.38]
0.71[-0.74, 2.16]
0.79 [-0.30, 1.88]
0.87[0.16, 1.58]
0.97 [-0.13, 2.07]
1.49[0.49, 2.49]
1.75[0.79, 2.71]
2.04[1.08, 3.00]
0.15 [-0.05, 0.35]
0.23[0.17, 0.29]
0.23[0.17, 0.29]
-0.55 [-1.15, 0.05]
-0.37 [-0.96, 0.22]
0.46 [-0.32, 1.24]
0.11[0.04, 0.18]
0.13[0.05, 0.21]
0.14[0.05, 0.22]
0.94[0.87, 1.01]

0.41[0.25, 0.57]



Standard Error

-10

Power 0 - 10

Power 10 - 20

Clock: Hannum, factor: Education, tissue: Blood

0 10
Effect

Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 30 - 40 Power 60 - 70 . Power 80 - 90

0 =0.05, 5= 0 | Medpoyer = 5%, dazy, = 0.88, degy, = 1.38 | E = 2.63, O = 9, pres < 0.001, R-Index = 0%

100%

5%

5%

5%

Jamod

B

PUBO018
PUBO018 -
PUBO018 -
PUB106 A
PUB177
PUB177
PUB177
PUB177 1
PUB177
PUB177
PUB177
PUB177
PUB177 1
PUB177
PUB177
PUB177
PUB177 1
PUB177
PUB177
PUB177
PUB177
PUB177 1
PUB177
PUB177
PUB177
PUB177 1
PUB177
PUB177
PUB177
PUB177
PUB177 1
PUB177
PUB177
PUB177
PUB177 1
PUB177
PUB177
PUB177
PUB177
PUB177 1
PUB177
PUB177
PUB177
PUB177
PUB177 1
PUB177
PUB188
PUB188
PUB188

Summary -

Effect [95% CI]

T
-20

10
Effect

[ Y DRI SIS SUSMSUNSS SUUS SN NSNS S SIS SN SN SN SN I SN S S "N N —— VU — N RS TSN T R SR —

-0.03[-0.10, 0.0
-0.05[-0.15, 0.0
-0.06 [-0.13, 0.0
-0.02[-0.08, 0.0
-0.07[-1.85, 1.7
-0.07[-0.31, 0.1
-0.11[-2.16, 1.9
-0.12[-1.01, 0.7
-0.17[-4.81, 4.4
-0.17[-0.44, 0.1
-0.21[-1.39, 0.9
-0.34[-1.10, 0.4
-0.47[-1.29, 0.3
-0.62[-2.74, 1.5
-0.67[-1.87, 0.5
-0.70[-2.78, 1.3
-0.87[-2.68, 0.9
-0.90[-2.84, 1.0
-1.01[-1.91, -0.1
-1.39 [ -2.40, -0.
-1.76 [ -3.16, =0.:
-11.88[-19.13, -4
~13.78 [-24.78, -2
0.00[ 0.00, 0.00
0.00 [ -0.01, 0.01
0.01[ 0.00, 0.02
0.02[-0.01, 0.0¢
0.03[-0.01, 0.07
0.13[-1.28, 1.5
0.14[-0.85, 1.1¢
0.17[-0.96, 1.3
0.22[-1.79, 2.2t
0.53[-0.42, 1.4¢
0.61[-0.23, 1.4¢
0.65[-0.49, 1.7¢
0.67 [ -0.80, 2.1¢
0.68[-1.22, 2.5¢
0.80[-0.75, 2.3t
0.80[-0.39, 1.9¢
0.83[-2.36, 4.0z
1.05[ 0.09, 2.01
1.13[-0.99, 3.2¢
1.48] 0.30, 2.66
1.51[-0.50, 3.5:
1.56 [-1.41, 4.5¢
1.77] 043, 3.11
0.24[-0.59, 1.07
0.36 [ -0.44, 1.1¢
0.70[-0.12, 1.5

0.00[ 0.00, 0.01



Standard Error

Clock: DunedinPoAm, factor: Education, tissue: Blood
( 100%

Effect

Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

o =0.05, 3= 0.02 | Medpower = 62.1%, daz0 = 0.01, degs = 0.02 | E = 12.17, O = 11, pres = 0.639, R-Index = 80.3%

5.1%

5%

5%

Jamod

PUBO018 -

PUBO018

PUBO018 -

PUB112

PUB112

PUB251 -

PUB251 -

PUB251 -

PUB251 -

PUB251 -

PUB251 -

PUB251 -

PUB251

PUB251

PUB251 1

PUB251 1

PUB251

PUB251 1

PUB251

PUB251

PUB251

PUB326

PUB326

PUB326

PUB326

Summary -

TR W TR U R e e W e ———

-_————— =

Effect

Effect [95% Cl]

0.01 [-0.14, 0.15]
0.07 [-0.04, 0.18]
0.09 [-0.02, 0.21]
0.78 [-0.15, 1.71]
2.73[1.63, 3.83]
0.00 [-0.01, 0.01]
0.00 [-0.01, 0.01]
0.00 [-0.01, 0.01]
0.01 [-0.01, 0.02]
0.01 [-0.01, 0.02]
0.01 [ 0.00, 0.02]
0.01[ 0.00, 0.02]
0.01[ 0.00, 0.03]
0.01[ 0.00, 0.03]
0.02 [ 0.00, 0.03]
0.02[0.01, 0.03]
0.02 [ 0.01, 0.04]
0.03[0.02, 0.03]
0.03 [ 0.02, 0.05]
0.03[0.02, 0.05]
0.04 [ 0.03, 0.05]
~0.05 [-0.32, 0.21]
~0.03 [-0.29, 0.23]
-0.03 [-0.23, 0.18]

-0.03 [-0.22, 0.17]

0.02[0.01, 0.02]



A 0.0

Standard Error

-4

Clock: PhenoAge, factor: Education, tissue: Blood

-2 0 2
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

100% B

PUBO018 -
PUBO018 1
PUBO018 A
PUBO034 ~
PUB106
PUB140 -

- 23.6%
PUB188 -

PUB188 1

Jamod

PUB230

PUB251 -

PUB251 -

PUB251 -

9.5%

PUB251

PUB251 +

PUB251

PUB251 -

PUB251 -

PUB332 |

0

)

ce

|
E
o

e | .

Effect [95% Cl]

|
1
|
1
|
|
Summary - 1
|
1
!
0

-2

o =0.05, 5= 0.62 | medpower = 27.7%, daas, = 0.69, desso = 1.08 | E =8.7, O = 11, pres = 0.29, R-Index = 0%

Effect

0.04 [-0.05, 0.12]

0.04[-0.11, 0.18]

0.06 [-0.01, 0.14]

-0.07 [-0.11, -0.0¢

-0.09 [-0.17, -0.01

3.63[1.11, 6.15]

0.35 [-0.77, 1.47]

1.16 [ 0.05, 2.27]

1.21[0.13, 2.29]

0.15[-0.31, 0.61]

0.79 [-0.31, 1.88]

0.91[0.02, 1.80]

0.96[0.18, 1.73]

0.980.09, 1.87]

1.02[-0.07, 2.12]

1.31[0.55, 2.08]

1.52[0.59, 2.45]

1.98[1.06, 2.89]

0.01[-1.68, 1.70]

0.62[0.30, 0.94]



A 0.0

Standard Error

Clock: GrimAge, factor: Education, tissue: Blood

100% B

PUBO018
PUBO018 -
PUBO018
PUBO045
PUBO045 ~
PUBO045

PUBO045 ~

0.2 99.7%

PUB100 -
PUB100
PUB106 A
PUB112
PUB112 1
PUB140

PUB188 -

0.4 - 65.6% PUB188 -

PUB188 -

Jamod

PUB230

PUB251 -

PUB251

PUB251 -

PUB251 +

PUB251 -

0.6 - 35%

PUB251

PUB251 -

PUB251 +

PUB251 -

PUB251

PUB251 -

PUB251 +

PUB251 -

0.8 1 21.9%

PUB251

PUB251
PUB251

Effect PUB332 o

Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Summary 4

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

Effect [95% Cl]

-2
o =0.05, 5= 0.95 | Medpower = 74.6%, daze = 0.55, desso = 0.86 | E = 24.47, O = 24, pres = 0.857, R-Index = 78.6%

Effect

0.08[0.00, 0.15]
0.11[0.06, 0.16]
0.11[0.06, 0.17]
-0.07 [-1.07, 0.93
-0.14 [-1.26, 0.98
-0.15[-1.11, 0.81
-0.21[-1.41, 0.99
0.08 [-0.70, 0.86]
0.47 [-0.37, 1.31]
-0.32 [-0.38, —0.2¢
0.79 [-0.09, 1.67]
2.42[1.39, 3.45]
2.17[0.62, 3.72]
1.45[0.49, 2.41]
2.44[1.48, 3.40]
4.06[3.13, 4.99]
-0.42 [-0.71, -0.1¢
0.12 [-0.36, 0.61]
0.18 [-0.38, 0.75]
0.71[0.08, 1.34]
0.72[0.17, 1.28]
0.90[0.30, 1.50]
0.97[0.22, 1.72]
1.05[0.63, 1.48]
1.21[0.59, 1.84]
1.37[0.68, 2.07]
1.46 [ 0.80, 2.11]
1.51[1.00, 2.02]
1.52[0.81, 2.24]
1.98[1.49, 2.47]
2.03[1.30, 2.76]
2.13[1.29, 2.97]
2.82[2.23, 3.40]
-0.65[-1.71, 0.41

0.95[0.59, 1.30]



Standard Error

Clock: PhenoAge, factor: Race/ethnicity, tissue: Blood

100% B

PUB018 -

PUB018 -

5%

PUB018 -

PUB034 -

PUB069 -

Jamod

5% PUB069

PUB124

PUB140 -

PUB332

5%

PUB332

0 5 10
Effect

Summary -

Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 60 — 70 . Power 80 — 90

Effect [95% CI]

-4

= 0.05, 5= ~0.02 | medpoyer = 5%, dagy, = 1.09, degy, = 2.01 | E = 0.6, O = 1, pres = 0.59, R-Index = 0%

[ E——

Effect

-0.01[-0.13, 0.12

-0.12[-0.29, 0.05

0.01[-0.12, 0.14]

-0.01[-0.05, 0.03

-1.16 [-3.88, 1.56

0.17 [-2.30, 2.64]

-3.51[-4.57, 2.4t

0.90 [-4.31, 6.11]

1.01 [-5.55, 7.57]

1.50 [-1.53, 4.53]

-0.02 [-0.06, 0.02



Standard Error

Clock: GrimAge, factor: Race/ethnicity, tissue: Blood

100%

5.2%

5.1%

5%

5%

-4 0 4
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

0 =0.05, 5= ~0.07 | medpoyer = 5.5%, dazy, = 0.52, degy = 0.84 | E = 1.63, O = 2, preg = 0.745, R-Index = 0%

Jamod

PUB018 -

PUB018 -

PUB018 -

PUB045 -

PUB124

PUB140 -

PUB332

PUB332

Summary =

i —

Effect [95% CI]

Effect

0.0

25

~0.04 [-0.12, 0.04

0.02 [-0.07, 0.10]

0.11[0.05, 0.17]

0.30 [-0.56, 1.16]

-0.95[-1.51, -0.3¢

-1.99[-5.17, 1.19

-0.12[-4.41, 417

1.37[-0.59, 3.33]

-0.07 [-0.38, 0.24



Standard Error

Clock: Hannum, factor: Race/ethnicity, tissue: Blood

-2 -1 0 1 2 3
Effect

Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

a = 0.05, 5= ~0.53 | Medpoyer = 62.5%, dazy, = 0.16, degy, = 0.62 | E = 3.43, O = 3, pres = 0.72, R-Index = 75%

100%

- 42.4%

14.3%

9.1%

Jamod

B

PUBO018

PUB018 -

PUB018 -

PUBO069

PUBO069

PUB124 1

Summary -

Effect [95% Cl]

-4

Effect

-0.06 [-0.20, 0.09

-0.25[-0.33, -0.1¢

0.00 [-0.08, 0.09]

~2.23 [-4.27, -0.1¢

-0.21[-1.74, 1.32

-1.77 [-2.58, —0.9¢

-0.53[-1.17, 0.11



A 0.00

Standard Error

Clock: DunedinPoAm, factor: SES, tissue: Blood

0.04

0.08

0.12

0.16

-0.25 0.00 0.25
Effect

Power 0 - 10 Power 20 - 30 Power 40 - 60

. Power 10 - 20 Power 30 - 40

0 = 0.05, 5= 0.01 | Medponer = 56.3%, dags, = 0.01, dggy, = 0.01 | E = 32.31, O = 35, pres = 0.477, R-Index = 52.3%

Power 70 - 80 . Power 90 - 100

Power 60 - 70 . Power 80 - 90

100%

5.8%

5.2%

5.1%

5.1%

Jamod

B

PUBO018 -
PUB209
PUB209 -
PUB209 1
PUB209
PUB211 1
PUB251 +
PUB251 -
PUB251
PUB251 -
PUB251
PUB251
PUB251 1
PUB251 +
PUB251 -
PUB251
PUB251 -
PUB251
PUB251
PUB251 1
PUB251 +
PUB251 -
PUB251
PUB251 -
PUB251
PUB251 +
PUB251 1
PUB251 +
PUB251 -
PUB251 1
PUB251 -
PUB251
PUB251 +
PUB251 1
PUB251 +
PUB251 -
PUB251 1
PUB251 -
PUB251
PUB251
PUB251
PUB251 +
PUB251 -
PUB251 1
PUB251 -
PUB251 1
PUB251
PUB251
PUB251 +
PUB251 -
PUB326 1
PUB326 -
PUB326 1
PUB326
PUB326 1
PUB326
PUB326 -
PUB326 1

Summary

VTG O e ® OO O a5~

=0

)

€

FY-X-X-X-)

Effect

0.2

0.4

0.6

Effect [95% ClI]
~0.02 [-0.15, 0.11]
0.00 [ 0.00, 0.00]
0.00 [ 0.00, 0.00]
0.01[ 0.00, 0.01]
0.01[0.00, 0.01]
0.00 [-0.01, 0.01]
~0.01 [-0.01, 0.00]
0.00 [-0.01, 0.01]
0.00 [-0.01, 0.01]
0.00 [-0.01, 0.01]
0.00 [ 0.00, 0.00]
0.00[ 0.00, 0.01]
0.00 [-0.01, 0.01]
0.00 [-0.01, 0.02]
0.00 [ 0.00, 0.01]
0.00 [-0.01, 0.02]
0.01[0.00, 0.01]
0.01[ 0.00, 0.01]
0.01[0.00, 0.01]
0.01[0.00, 0.01]
0.01 [-0.01, 0.02]
0.01 [ 0.00, 0.01]
0.01[ 0.00, 0.02]
0.01[0.01, 0.01]
0.01[0.01, 0.01]
0.01[0.00, 0.02]
0.01[0.01, 0.01]
0.01[0.01, 0.01]
0.01 [ 0.00, 0.02]
0.01 [ 0.00, 0.02]
0.01 [ 0.00, 0.02]
0.01[ 0.00, 0.02]
0.01[0.00, 0.02]
0.01[ 0.00, 0.03]
0.01[ 0.00, 0.03]
0.01[ 0.00, 0.03]
0.01 [ 0.00, 0.03]
0.01 [ 0.00, 0.03]
0.02 [ 0.00, 0.03]
0.02[0.01, 0.03]
0.02[0.01, 0.03]
0.02 [ 0.01, 0.03]
0.02[0.01, 0.03]
0.02 [ 0.01, 0.04]
0.02[0.01, 0.03]
0.03[0.02, 0.04]
0.03[0.02, 0.04]
0.03[0.02, 0.04]
0.03 [ 0.02, 0.04]
0.04 [ 0.03, 0.05]
-0.13 [-0.40, 0.14]
-0.03 [-0.23, 0.18]
-0.01 [-0.27, 0.25]
-0.01 [-0.25, 0.23]
0.13[-0.15, 0.41]
0.16 [-0.09, 0.41]
0.31[0.07, 0.56]
0.32[0.03, 0.61]

0.01[0.01, 0.01]



Clock: GrimAge, factor: SES, tissue: Blood
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Effect

84.5%

59, pres = 0.289, R-Index =

0.87|E=63.75,0=

0.56, dee%

0.96 | medpower = 74%, d33y,

0.05,6=

o=



Standard Error

-4

Clock: PhenoAge, factor: Sex, tissue: Blood

-2 0 2 4
Effect

Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

0 =0.05, = ~0.03 | medpoyer = 7-9%, dazy, = 0.09, deey, = 0.84 | E = 0.65, O = 4, pres < 0.001, R-Index = 0%

100%

5%

5%

Jamod

B

PUBO018

PUB034 -

PUB037

PUB106 A

PUB140 1

PUB332

Summary -

Effect [95% Cl]

-4

-2

Effect

O = == = == -

-0.11[-0.18, -0.0¢

0.07[0.03, 0.11]

1.50 [ 0.40, 2.60]

~0.11 [-0.19, 0.0

-1.30[-3.87, 1.27

0.02 [-1.79, 1.83]

-0.03[-0.15, 0.10



A 0.000

Standard Error

0.025

0.050

0.075

Clock: DunedinPoAm, factor: Sex, tissue: Blood

100% B
PUBO018
14.6%
PUB291 A
o
o
=
)
- PUB326
7.3%
PUB326 A
6%
Summary 4
-0.2 -0.1 0.0 0.1 0.2
Effect
. Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
. Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

o= 0.05, &= ~0.02 | medpower = 7%, dazy, = 0.08, deey, = 0.14 | E = 0.39, O = 1, pres = 0.309, R-Index = 0%

Effect

0.2

Effect [95% Cl]

-0.12 [-0.21, 0.0

0.01 [-0.03, 0.05]

0.01[-0.14, 0.16]

0.05[-0.12, 0.22]

-0.02 [-0.10, 0.06



Standard Error

Clock: GrimAge, factor: Sex, tissue: Blood

100%

F71.4%

- 24.3%

13.4%

9.7%

-2 -1 0 1 2
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

a = 0.05, 5= ~0.51 | Medpoyer = 68.4%, gy, = 0.18, degy; = 0.46 | E = 3.6, O = 4, pres = 0.739, R-Index = 70.1%

Jamod

B

PUBO018

PUB022 -

PUB037

PUB106 A

PUB140 1

PUB332

Summary -

Effect [95% Cl]

-4

-0.36 [-0.40, —0.31

-0.15[-0.31, 0.01

0.43[-0.18, 1.04]

0.08[0.02, 0.14]

-2.28[-3.80, —0.7¢

-1.94[-3.12, -0.7¢

-0.51[-1.24, 0.23



A 0.0

Standard Error

Clock: GrimAge, factor: Smoking, tissue: Blood

0.5

1.0 1

1.5+

-5 0 5
Effect
. Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
. Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

o= 0.05, &= 2.79 | Medponer = 100%, gy, = 0.5, degys = 0.79 | E = 27.98, O = 26, pres = 0.149, R-Index = 100%

100%

100%

= 79.7%

- 46.1%

Jamod

B

PUBO018 -

PUBO018 1

PUB022

PUB045 -

PUB100 +

PUB106

PUB112 1

PUB112

PUB112

PUB112

PUB124

PUB124 1

PUB124

PUB124

PUB140

PUB154

PUB154 +

PUB169

PUB209 -

PUB209 ~

PUB230 -

PUB251 1

PUB251

PUB251 -

PUB251

PUB251 -

PUB251 1

PUB251

PUB251 -

PUB332

Summary -

P —

°

-

-

Effect [95% CI]

O e == o o o= o o e Em e e o e Em e o e e e o e Em Em e e e e o e e e e e e e e e e = e

Effect

U1 -

0.25[0.21, 0.29]
0.83[0.73, 0.92]
0.28[0.17, 0.39]
0.29 [-0.49, 1.07]
0.88[0.24, 1.52]
0.11[0.03, 0.19]
0.99[0.32, 1.66]
5.19[4.24, 6.14]
5.43[3.24, 7.62]
8.19[7.33, 9.05]
-3.60 [-5.38, -1.8:
-2.09 [-4.21, 0.03
-1.26 [-4.37, 1.85
0.51[-2.86, 3.88]
3.53[1.87, 5.19]
2.34[1.66, 3.02]
6.36 [ 5.14, 7.58]
7.91[7.06, 8.76]
0.99[0.64, 1.33]
1.89[1.67, 2.12]
1.98[1.70, 2.26]
1.73[1.33, 2.12]
1.74[1.35, 2.14]
2.05[1.82, 2.29]
2.15[1.90, 2.40]
7.13[6.48, 7.78]
7.17[6.52, 7.82]
7.42[7.02, 7.82]
7.44[7.06, 7.82]

4.37[3.06, 5.68]

2.79[1.66, 3.92]



A 0.0

Standard Error

Clock: DunedinPoAm, factor: Smoking, tissue: Blood

Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

0 =0.05, &= 0.88 | Medponer = 100%, dagy, = 0.01, degys = 0.01 | E = 16.29, O = 17, pres = 0.643, R-Index = 100%

100%

= 42%

14.2%

9%

Jamod

B

PUB018 -

PUB018 -

PUB112 1

PUB112

PUB112

PUB112

PUB209 -

PUB209 1

PUB251

PUB251

PUB251 -

PUB251 -

PUB251 -

PUB251

PUB251 +

PUB251

PUB326 -

PUB326 -

PUB326 -

Summary -

L

O mpm == o= == = ===

Effect

Effect [95% Cl]

0.36 [ 0.27, 0.45]

1.34[1.18, 1.50]

0.96[0.12, 1.80]

3.71[0.98, 6.44]

3.86 [ 2.67, 5.05]

7.16 [ 6.09, 8.23]

0.02[0.02, 0.03]

0.03[0.02, 0.03]

0.02[0.02, 0.03]

0.02[0.02, 0.03]

0.03[0.02, 0.03]

0.03[0.02, 0.04]

0.12[0.11, 0.13]

0.12[0.11, 0.13]

0.12[0.11, 0.13]

0.12[0.11, 0.13]

0.05 [-0.18, 0.28]

0.23 [-0.02, 0.49]

0.43[0.07, 0.79]

0.88[0.09, 1.66]



A 0.00

Standard Error

Clock: GrimAge, factor: Psychosocial adversity, tissue: Blood

100%

0.05 13.5%

0.10 7.1%

0.15 5.9%
-0.50 -0.25 0.00 0.25 0.50

Effect

Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

. Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

0 =0.05, 5= ~0.04 | Medpoyer = 6.6%, dagy, = 0.17, degy, = 0.27 | E = 0.86, O = 4, pres < 0.001, R-Index = 0%

Jamod

B

PUB022

PUB138 -

PUB138 1

PUB138

PUB306 -

PUB306

PUB306

PUB306 -

PUB306

PUB306

PUB306 -

PUB306

PUB306

Summary -

Effect [95% CI]

0.6

0.25[0.11, 0.39]

-0.05[-0.26, 0.16

-0.01[-0.21, 0.18

0.02 [-0.18, 0.23]

-0.40 [-0.63, —0.1¢

-0.27 [-0.46, —0.0¢

-0.20 [-0.48, 0.07

-0.19 [-0.41, 0.03

-0.07 [-0.33, 0.18

-0.07 [-0.40, 0.26

-0.05[-0.32, 0.23

0.24 [-0.09, 0.58]

0.31[0.03, 0.59]

-0.04 [-0.16, 0.07



Standard Error

Clock: GrimAge, factor: Frailty, tissue: Blood

Effect

Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

a = 0.05, 5= ~0.04 | Medpoyer = 23.9%, daay, = 0.05, degy, = 0.08 | E = 15.17, O = 20, pres = 0.099, R-Index = 0%

100%

5.1%

5%

5%

Jamod

B

PUB029
PUBO029 1
PUBO061
PUBO061 A
PUBO061
PUBO61
PUBO061
PUBO61
PUB108 A
PUB108
PUB108 A
PUB108 -
PUB108
PUB108 -
PUB108
PUB108 1
PUB108 +
PUB108
PUB108 -
PUB108 1
PUB135 -
PUB135 +
PUB135
PUB135 +
PUB169 1
PUB169
PUB169 1
PUB169
PUB169
PUB169 1
PUB169
PUB169 1
PUB206 -
PUB229 1

PUB229

Summary

——— R R

OOOO':'

60-:-.-:.9

- >

PR —

Effect [95% Cl]

-0.03 [-0.08, 0.02
-0.04 [-0.09, 0.02
-0.01[-0.02, 0.00
-0.01 [-0.02, 0.00
-0.01 [-0.01, 0.00
-0.01[-0.02, 0.01
0.00 [-0.02, 0.01]
0.00 [-0.01, 0.01]
-0.26 [-0.32, -0.2(
-0.23 [-0.30, —0.1¢
-0.22 [-0.31, —0.1:
-0.16 [-0.22, —0.1(
-0.12 [-0.19, —0.0¢
-0.09 [-0.18, 0.00
-0.04 [-0.11, 0.03
-0.03 [-0.09, 0.03
-0.03[-0.12, 0.06
0.10[0.01, 0.19]
0.13[0.06, 0.20]
0.16[0.09, 0.23]
0.00[0.00, 0.01]
0.00 [ 0.00, 0.01]
0.01[0.01, 0.02]
0.02[0.02, 0.02]
-0.16 [-0.82, 0.50
-0.38[-1.04, 0.28
-0.46 [-0.96, 0.04
-0.60 [-1.10, —0.1(
-3.74[-6.03, -1.4¢
-4.23[-6.49, -1.9;
-4.59 [-6.41, —2.7'
-4.93 [-6.74, -3.1:
-6.40 [-9.25, —3.5¢
-0.01[-0.07, 0.05
0.02[0.00, 0.04]

-0.04 [-0.08, —0.01



Standard Error

Power 0 - 10

Power 10 - 20

a = 0.05, 5= ~0.02 | Medpoyer = 14.8%, dazy, = 0.03, degy; = 0.05 | E = 8.12, O = 16, pres = 0.003, R-Index = 0%

Power 20 - 30

Power 30 - 40

0
Effect

Power 40 - 60

Clock: PhenoAge, factor: Cognitive function, tissue: Blood

Power 70 - 80 . Power 90 - 100

Power 60 - 70 . Power 80 — 90

100%

5.4%

5.1%

5%

5%

5%

Jamod

B

PUBO034 1
PUBO037
PUB108 -
PUB108 A
PUB108
PUB108 -
PUB108 A
PUB108
PUB108 -
PUB108 A
PUB108
PUB120 -
PUB120 -
PUB120
PUB120
PUB120 -
PUB120
PUB120
PUB120 -
PUB120 -
PUB120
PUB120 -
PUB120 -
PUB120
PUB120
PUB120 -
PUB120
PUB120
PUB120 -
PUB120
PUB120
PUB205 -
PUB205
PUB205
PUB205 -
PUB205
PUB205
PUB229
PUB269 1
PUB269
PUB269 -
PUB269 1
PUB269
PUB269
PUB286 A
PUB286
PUB286 -
PUB286 A
PUB291 +
PUB291 -
PUB291 1
PUB291 +

Summary -

| B AR AR RN
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v

v
e

e.o_o_ _o_o. o_°_?

.

o
o

1.0 15
Effect

2.0

Effect [95% Cl]
0.00 [-0.05, 0.05]
1.32[0.31, 2.33]
-0.12 [-0.19, —0.0¢
-0.09 [-0.16, —0.0:
~0.09 [-0.17, -0.01
-0.09 [-0.17, 0.0
-0.09 [-0.17, 0.0
-0.08 [-0.15, -0.01
-0.07 [-0.15, 0.01
-0.07 [-0.15, 0.01
-0.06 [-0.13, 0.01
-0.03 [-0.05, 0.00
-0.03 [-0.05, 0.00
-0.02 [-0.05, 0.00
-0.02 [-0.06, 0.01
-0.02 [-0.06, 0.01
-0.02 [-0.05, 0.01
-0.02 [-0.06, 0.01
-0.02 [-0.05, 0.02
-0.01[-0.03, 0.01
-0.01[-0.03, 0.02
0.00 [-0.02, 0.03]
0.00 [-0.02, 0.03]
0.00 [-0.02, 0.03]
0.00 [-0.02, 0.03]
0.00 [-0.02, 0.03]
0.01[-0.02, 0.05]
0.01 [-0.02, 0.05]
0.02 [-0.02, 0.06]
0.02 [-0.02, 0.06]
0.02 [-0.01, 0.06]
-0.01 [-0.04, 0.02
-0.01[-0.11, 0.09
-0.02 [-0.05, 0.01
-0.09 [-0.24, 0.06
-0.16 [-0.30, -0.0:
0.06 [-0.05, 0.18]
0.01[-0.01, 0.03]
-0.10 [-0.18, -0.0:
-0.07 [-0.13, —0.01
-0.06 [-0.14, 0.02
-0.06 [-0.12, 0.00
0.03 [-0.03, 0.09]
0.06 [ 0.00, 0.12]
-0.06 [-0.10, —0.0:
-0.05 [-0.09, —0.01
-0.01 [-0.05, 0.03
0.00 [-0.04, 0.04]
~0.06 [-0.10, —0.0:
-0.05 [-0.09, —0.01
-0.01[-0.05, 0.03
0.00 [-0.04, 0.04]

-0.02 [-0.03, -0.01



Standard Error

O
PUBO35
\ PUB043

Clock: PhenoAge, factor: Cancer, tissue: Blood

@

-4 0 4
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 — 70 . Power 80 - 90

100% B

PUB043
PUB118
PUB118
7 4% PUB118
PUB118
PUB118

PUB118 o

Jamod

PUB118 1

PUB118 -

PUB118

5.6%

PUB283 -

PUB283 -

PUB283 -

PUB283

PUB283

PUB283

Summary =

Effect [95% Cl]

o =0.05, 5= 0.46 | medpower = 9.8%, dass = 1.09, degso = 1.7 | E = 4.24, O = 5, pres = 0.675, R-Index = 0%

-4

[

Effect

0.00 [-2.20, 2.20]

0.11 [-0.02, 0.24]

0.13[0.02, 0.24]

-1.27 [-2.28, -0.2¢

-0.65[-2.14, 0.84

-0.50 [-1.64, 0.64

-0.10 [-1.68, 1.48

0.05 [-0.62, 0.72]

0.63 [-0.32, 1.58]

0.63[0.26, 1.00]

0.96 [-0.36, 2.28]

4.61[3.69, 5.53]

-0.85[-3.46, 1.76

-0.42 [-2.64, 1.80

-0.01[-2.51, 2.49

1.11[-3.72, 5.94]

1.66 [-0.69, 4.01]

5.83[0.62, 11.04]

0.46 [-0.26, 1.17]



Clock: GrimAge, factor: Physical activity, tissue: Blood

A’ Y B : Effect [95% CI]
PUB050 - :: -1.32[ -1.64, -1
PUB0S0 | ~1.17[ -1.49,
PUB050 - | -0.88[ -1.20, ~(
PUBO50 - :: -0.86[ -1.17, —(
PUBO50 - : -0.53[ -0.85, —(
PUBO50 - : -0.45[ -0.72, —(
PUBO50 - : -0.42[ -0.70, —(
10 % PUBO0S0 - ’: ~0.38[ -0.69,
PUBO50 - t -0.16[ -0.43, 0
PUBO061 - ! -3.20[ -6.10, —(
PUB061 : -2.88[ -6.47, O
PUB061 : -2.67[ -4.94, —(
PUB061 : -2.18[ -4.85, 0
PUB061 A : -2.05[ -554, 1
PUB061 o : -1.53[ -3.63, 0
52 5% PUB0G1 - | ~1.07[ -2.16, 0
LE p PUBOG1 : ~0.61[ -1.96, 0
g 5 PUBOG1 : ~054[ -1.61, 0
g PUBO61 - | -0.12[ -0.86, 0
PUB061 : -0.12[ -1.40, 1
PUB061 | 0.03[ -0.66, O.
PUB061 : 0.07[ -3.84, 3.
PUB061 1 : 0.29[ -1.05, 1.
30 5% PUB061 : 0.55[ -3.23, 4.
PUBO061 - : 0.60[ -0.76, 1.
PUB100 o : -0.14[ -1.20, O
PUB100 o 1 -0.79[ -1.69, O
PUB100 o : 0.00[ -0.84, 0.
PUB100 { 0.09[ -0.42, 0
PUB112 o : -1.14[ -2.28, O
PUB112 o : -1.05[ -2.09, —(
40 5% PUB124 o : -1.12[ -2.23, —(
PUB124 o : -0.52[ -1.48, 0O
PUB124 : -0.15[ -0.99,
PUB124 o : -0.13[ -0.75,
50 00 o 0 5 100 PUB206 - : ~138.00 [-217.45,
Effect PUB230 : 0.10[ -0.17, 0.
|
. Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100 Summary - E 052 ~0.71, ~C
. Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90 |
0

T T T T
-200 -150 -100 -50
a = 0.05, = ~0.52 | Medpower = 16.7%, gy, = 0.81, degys = 1.26 | E = 13.58, O = 14, pres = 0.886, R-Index = 0% Effect



Standard Error

Clock: PhenoAge, factor: Birth weight, tissue: Blood

100%
0.25 8.5%
0.50 5.9%
0.75 5.4%
1.00 5.2%

-3 -2 -1 0 1 2 3
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

o =0.05, 5= -0.14 | Medponer = 7-1%, dagy, = 0.49, degy, = 0.76 | E = 2.01, O = 2, pres = 0.992, R-Index = 0%

Jamod

B

PUBO059 -

PUBO059 -

PUB059 -

PUB059 -

PUBO060 -

PUB231 1

PUB322 1

Summary -

Effect [95% CI]

Effect

-0.91[-1.53, -0.2¢

-0.90 [-1.53, -0.2}

0.26 [-0.47, 1.00]

0.37 [-0.37, 1.10]

~0.04 [-0.09, 0.01

1.58 [-0.38, 3.54]

-0.03[-0.14, 0.08

-0.14[-0.54, 0.26



Standard Error

-2

Clock: Hannum, factor: Birth weight, tissue: Blood

100%
12.7%
6.9%
5.8%
5.5%
-1 0 1 2
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

0 =0.05, 5= ~0.16 | Medpoyer = 8.9%, dagy, = 0.42, degy = 0.66 | E = 2.22, O = 2, pres = 0.857, R-Index = 0%

Jamod

B

PUBO059 -

PUBO059 -

PUB059 -

PUB059 -

PUBO060 -

PUB231 1

PUB322 1

Summary -

Effect [95% CI]

-2

[ Y S ——

Effect

-0.66 [-1.20, -0.1Z

-0.62[-1.17, -0.0}

-0.04 [-0.63, 0.54

0.24[-0.35, 0.83]

~0.01 [-0.06, 0.05

-1.11[-2.54, 0.32

-0.07 [-0.18, 0.04

-0.16 [-0.38, 0.06



A 0.0

Standard Error

Clock: GrimAge, factor: Birth weight, tissue: Blood

K\

-1 0 1
Effect

Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

o =0.05, 5= -0.11 | Medponer = 8.4%, dagy, = 0.3, degs = 0.46 | E = 1.84, O = 1, pres = 0.47, R-Index = 2.5%

100%

8.3%

5.8%

5.4%

Jamod

B

PUBO059 -

PUBO059 -

PUB059 -

PUB059 -

PUBO060 -

PUB231 1

PUB322 1

Summary -

Effect [95% CI]

[ Y S ——

Effect

-0.34[-0.74, 0.05

-0.31[-0.71, 0.08

-0.28 [-0.66, 0.10

-0.23[-0.62, 0.15

-0.08 [-0.13, —0.0¢

0.91[-0.27, 2.09]

0.08 [-0.03, 0.19]

-0.11[-0.25, 0.04



Standard Error

-1.0

Clock: Horvath, factor: Birth weight, tissue: Blood

100%

5.1%

5%

5%

-0.5 0.0 0.5 1.0
Effect

Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

o= 0.05, &= 0.01 | Medponer = 5%, dagy, = 0.46, degys = 0.73 | E = 0.38, O = 0, pres = 0.526, R-Index = 10%

Jamod

PUBO059 -

PUBO059 -

PUB059 -

PUB059 -

PUBO060 -

PUB322 1

PUB322 1

Summary -

0.0

Effect

0.5

1.

Effect [95% CI]

0.01 [-0.59, 0.61]

0.03 [-0.57, 0.63]

0.18 [-0.50, 0.87]

0.23 [-0.47, 0.93]

0.00 [-0.05, 0.05]

0.02 [-0.08, 0.12]

0.04 [-0.06, 0.14]

0.01 [-0.03, 0.05]



Standard Error

Clock: Hannum, factor: Frailty, tissue: Blood

-4 0 4
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 — 70 . Power 80 - 90

0 =0.05, 5= 0 | Medpoer = 5.1%, dagy, = 0.05, degy, = 0.08 | E = 3.85, O = 12, pres < 0.001, R-Index = 0%

100%

5%

5%

Jamod

B

PUBO061
PUBO61
PUBO61
PUBO061 A
PUBO061 A
PUBO061
PUB108
PUB108 1
PUB108 1
PUB108 -
PUB108
PUB108
PUB108 A
PUB108 A
PUB108
PUB108 +
PUB108 +
PUB108 A
PUB135 1
PUB135 -
PUB135 +
PUB135
PUB169 1
PUB169
PUB169
PUB169
PUB169 A
PUB169 1
PUB169
PUB169
PUB206
PUB229 1
PUB229 1
PUB254
PUB254 =
PUB254 1
PUB254 1
PUB254
PUB254
PUB254

PUB254 1

Summary =

Effect [95% CI]

-6

-4

-2

Effect

O ==

-0.01[-0.03, 0.01
-0.01[-0.02, 0.01
0.00 [-0.02, 0.01]
0.00 [-0.02, 0.01]
0.00 [-0.02, 0.02]
0.00 [-0.02, 0.02]
-0.10 [-0.16, 0.0«
-0.10 [-0.16, 0.0
-0.10 [-0.17, —0.0:
-0.09 [-0.15, 0.0
~0.09 [-0.16, —0.0:
-0.08 [-0.14, —0.0:
-0.06 [-0.12, 0.00
-0.06 [-0.13, 0.01
-0.06 [-0.13, 0.01
-0.01[-0.08, 0.06
0.00 [-0.06, 0.06]
0.00 [-0.06, 0.06]
0.00[0.00, 0.00]
0.00[0.00, 0.00]
0.00[0.00, 0.01]
0.01[0.00, 0.01]
-0.04 [-1.87, 1.79
0.00 [-1.73, 1.73]
0.01[-1.72, 1.74]
0.09 [-1.73, 1.91]
0.29 [-0.20, 0.78]
0.33[-0.16, 0.82]
0.35[-0.15, 0.85]
0.37 [-0.12, 0.86]
-2.20 [-4.15, -0.2¢
-0.01 [-0.05, 0.03
0.00 [-0.02, 0.02]
~1.52 [-5.06, 2.02
-0.85[-5.86, 4.16
-0.34 [-0.89, 0.21
-0.30 [-0.59, —0.01
0.02[0.00, 0.04]
0.02[0.00, 0.04]
0.04 [-0.16, 0.24]
0.13[-0.17, 0.43]

0.00[0.00, 0.00]



Standard Error

Clock: PhenoAge, factor: Frailty, tissue: Blood

A 0.0

e B : Effect [95% CI]

PUBO61 - : 0.00 [-0.01, 0.02]

PUBO6L - I 0.01[-0.01, 0.03]

PUBO061 o { 0.01[-0.01, 0.03]

PUBO061 | 0.02 [-0.01, 0.04]

PUB061 | 0.02 [-0.01, 0.04]

PUB061 : 0.02 [-0.01, 0.04]
PUB108 A | -0.15[-0.22, -0.0¢
o PUB108 o E: -0.13 [-0.20, —-0.0¢
PUB108 o -0.12 [-0.19, —0.0¢
PUB108 A E: -0.10 [-0.17, -0.0¢
PUB108 a —-0.09 [-0.16, —-0.0z
PUB108 - E: -0.08 [-0.15, -0.01
PUB108 - ] -0.01[-0.08, 0.06
PUB108 w_: -0.01[-0.08, 0.06

PUB108 o 1 0.00 [-0.07, 0.07]

o PUB108 i 0.00 [-0.08, 0.08]
PUB108 : 0.01 [-0.07, 0.09]

PUB108 - : 0.03[-0.04, 0.10]

'.; PUB135 : 0.00 [ 0.00, 0.00]

@ PUB135 - | 0.00 [ 0.00, 0.00]
PUB135 - I 0.01[0.00, 0.01]

PUB135 - : 0.01[0.01, 0.01]
o PUB169 - : -1.36 [-3.19, 0.47
’ PUB169 i -1.49 [-3.32, 0.34
PUB169 : -2.53[-4.41, -0.6¢
PUB169 A : -2.69 [-4.57, -0.81

PUB169 : 0.04 [-0.46, 0.54]

PUB169 - 1 0.10 [-0.41, 0.61]

PUB169 | 0.14 [-0.36, 0.64]

PUB169 - : 0.21 [-0.30, 0.72]

PUB206 - : -2.10 [-3.60, -0.6(

5% PUB229 I 0.00 [-0.02, 0.02]
PUB229 A 2 0.01[-0.03, 0.05]

PUBZ254 : ~2.24[-6.26, 1.78

PUB254 : -0.45 [-0.89, -0.07

PUB254 - ! -0.10 [-0.51, 0.31

PUB254 - : 0.01[0.00, 0.02]

PUB254 : 0.01 [-0.24, 0.26]

PUB254 : 0.02 [ 0.00, 0.04]

-4 0 4 PUB254 I 0.12 [-0.13, 0.37]

Effect |

PUB254 - : 0.84 [-3.57, 5.25]

. Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100 [ ‘
Summary -0.01[-0.02, 0.01

. Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

O =
w

-6 -3
= 0.05, 5= ~0.01 | Medpoyer = 5.8%, dazy, = 0.06, degy, = 0.09 | E = 7.02, O = 12, pres = 0.039, R-Index = 0% Effect



Standard Error

Clock: Hannum, factor: Physical ability, tissue: Blood

100%

5%

5%

5%

-20 0 20 40
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

0= 0.05, &= ~0.04 | medpoyer = 19.1%, dagy, = 0.05, degys = 0.08 | E = 2.01, O = 3, pres = 0.449, R-Index = 15.1%

Jamod

B

PUBO061

PUB061 -

PUB106 A

PUB108

PUB108 -

PUB108 A

PUB108 +

PUB108 -

PUB108 A

PUB108

PUB108 -

PUB108 A

PUB229

Summary -

Effect [95% CI]

T
-50

T
-40

T
-30

20
Effect

T
-10

[ ——

10

-22.03 [-49.96, 5.

-18.25 [-44.94, 8.

0.01[-0.07, 0.0¢

-0.09[-0.15, -0.(

-0.09[-0.16, -0.(

-0.07[-0.14, 0.0

-0.06 [-0.12, 0.0

-0.05[-0.11, 0.0

-0.04[-0.10, 0.0

0.01[-0.05, 0.07

0.01[-0.05, 0.07

0.02 [ -0.04, 0.0¢

-0.07[-0.29, 0.1

-0.04 [ -0.06, -0.(



Standard Error

Clock: GrimAge, factor: Physical ability, tissue: Blood

100%

5%

5%

5%

-30 -20 -10 0 10 20 30
Effect

. Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 — 70 . Power 80 — 90

0 =0.05, 5= ~0.16 | Medpoyer = 98.7%, dagy, = 0.06, degy, = 0.09 | E = 19.82, O = 17, pres = 0.088, R-Index = 100%

Jamod

B

PUBO061

PUBO061 A

PUB106

PUB108 -

PUB108

PUB108 -

PUB108 +

PUB108

PUB108 1

PUB108

PUB108 A

PUB108

PUB186 -

PUB186

PUB186 -

PUB186 A

PUB186 -

PUB186 A

PUB186

PUB186 -

PUB186

PUB186 -

PUB229 1

Summary

Effect [95% CI]

T
-40

T
-30

20
Effect

T
-10

[ X E—

-18.63 [-38.90, 1.
-13.26 [-29.39, 2.
-0.17[-0.23, -0.1
-0.28 [ -0.34, 0.

-0.25[-0.33, -0.1

-0.22[-0.28, -0.1
-0.19 [ -0.25, -0.1
-0.15[-0.22, -0.(
-0.15 [ -0.22, -0.(
-0.14 [ -0.20, -0.(

-0.09[-0.18, 0.0

-0.06 [-0.15, 0.0

-0.21[-0.30, -0.1
-0.21[-0.29, -0.1
-0.21[-0.30, -0.1
-0.20 [ -0.28, -0.1
-0.17 [-0.24, -0.1
-0.16 [ -0.24, —0.(
-0.09 [ -0.15, -0.(

-0.08 [ -0.15, -0.(
-0.05[-0.13, 0.0
-0.05[-0.13, 0.0

-0.06 [-0.33, 0.2

-0.16 [ -0.19, -0.1



Standard Error

Clock: Horvath, factor: Physical ability, tissue: Blood

100%

5%

5%

-20 0 20 40
Effect

Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

a = 0.05, 5= ~0.02 | Medpoyer = 7.8%, dazy, = 0.06, degy, = 0.09 | E = 0.99, O = 0, pres = 0.301, R-Index = 15.6%

Jamod

B

PUBO061

PUB061 -

PUB106 A

PUB108

PUB108 -

PUB108 A

PUB108 +

PUB108 -

PUB108 A

PUB108

PUB108 -

PUB108 A

PUB229

Summary -

Effect [95% CI]

T
=20

T
-10

o) E—

Effect

10

20

30

-0.38 [-26.61, 25.¢

3.67 [-20.95, 28.2

0.03[-0.05, 0.11

-0.05[-0.11, 0.01

-0.05[-0.12, 0.0z

-0.03[-0.09, 0.0%

-0.03[-0.09, 0.0t

-0.03[-0.10, 0.0¢

-0.02[ -0.08, 0.0¢

0.01[-0.06, 0.08

0.01[-0.06, 0.08

0.02 [ -0.05, 0.09

-0.13[-0.35, 0.0¢

-0.02 [ -0.04, 0.0C



Standard Error

Clock: PhenoAge, factor: Physical ability, tissue: Blood

-50

-25 0 25 50
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

o =0.05, 3= -0.07 | medpower = 41.6%, dage, = 0.06, degss = 0.1 | E = 4.43, O =5, pres = 0.737, R-Index = 44.8%

100%

5%

5%

5%

Jamod

B

PUBO061

PUB061 -

PUB106 A

PUB108

PUB108 -

PUB108 A

PUB108 +

PUB108 -

PUB108 A

PUB108

PUB108 -

PUB108 A

PUB229

Summary -

Effect [95% CI]

T
=20

o) E——

Effect

20

40

13.60 [-20.48, 47.¢

20.94 [-10.65, 52.F

-0.06 [ -0.14, 0.0z

-0.12[-0.19, -0.0

-0.11[-0.18, -0.0

-0.10 [ -0.17, -0.0

-0.09 [ -0.16,

0.0

-0.08 [ -0.14, -0.0

-0.05[-0.12, 0.0z

0.00[-0.10, 0.10

0.01[-0.08, 0.10

0.02[-0.08, 0.12

-0.06 [-0.22, 0.1(

-0.07 [ -0.10, -0.0



A 0.00

Standard Error

0.05

0.10

0.15

Clock: Horvath, factor: HDL, tissue: Blood

100%

5.1%

5%

5%

-0.25 0.00 0.25
Effect
. Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
. Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

a = 0.05, 5= 0 | Medponer = 5.1%, dagy = 0.07, degys = 0.12 | E = 0.91, O = 1, pres = 0.917, R-Index = 0%

Jamod

B

PUBOG5

PUB125

PUB296

PUB296 -

Summary 4

Effect [95% Cl]

'o-———————

0.'25
Effect

0.50

0.34[0.03, 0.65]

0.00 [ 0.00, 0.00]

-0.07 [-0.15, 0.01]

0.03 [-0.09, 0.15]

0.00 [-0.05, 0.05]



Standard Error

Clock: Bohlin, factor: BMI, tissue: Blood

100%
0.25 5.2%
0.50 5.1%

0.75 5%

-2 -1 0 1 2
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

a =0.05, 3= 0.04 | Medpower = 8.6%, daze = 0.1, dgso = 0.16 | E = 0.57, O = 0, pres = 0.432, R-Index = 17.1%

Jamod

B

PUBO067

PUB202

PUB202 -

PUB313 -

PUB329 1

PUB329 1

PUB329 1

Summary -

Effect [95% CI]

-3

-2

-1

Effect

[ R ——

0.00 [-0.09, 0.10]

0.07 [-0.04, 0.18]

0.10 [-0.01, 0.21]

0.02 [-0.17, 0.21]

-1.20 [-2.92, 0.52]

-0.02 [-0.15, 0.11]

0.26 [-1.14, 1.66]

0.04 [-0.02, 0.09]



A 0.0

Standard Error

Clock: Bonhlin, factor: Sex, tissue: Blood

100%

5.1%

5%

-2 0 2
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

o= 0.05, & = ~0.04 | medpoer = 5.1%, dazy, = 0.96, dgey, = 1.5 | E = 0.57, O = 1, pres = 0.558, R-Index = 0%

Jamod

B

PUB067 -

PUB202 -

PUB202 -

PUB313 -

PUB313 -

PUB313 -

PUB313

PUB329 -

Summary =

Effect [95% CI]

-4

-2

Effect

[ e SR ——

-0.05 [-0.13, 0.03]

~1.17 [-2.62, 0.28]

-0.59 [-1.94, 0.76]

-1.30 [-3.75, 1.15]

-0.07 [-0.54, 0.40]

0.00 [-0.17, 0.17]

1.36[0.12, 2.60]

0.14 [-1.09, 1.37]

-0.04 [-0.12, 0.03]



A 0.0

Standard Error

-4

Clock: Bohlin, factor: Smoking, tissue: Blood

100%

5.1%

5%

-2 0 2 4
Effect

Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

o =0.05, &= 0.06 | Medpoyer = 5.4%, dagy, = 0.45, degy, = 0.7 | E = 0.59, O = 1, pres = 0.571, R-Index = 0%

Jamod

B

PUBO067

PUB202 -

PUB313 -

PUB313 1

PUB313 1

PUB329 1

Summary -

Effect [95% Cl]

-3

-2

-1
Effect

O = == o= = ———

0.080.01, 0.16]

-0.20 [-2.19, 1.79]

-0.08 [-0.31, 0.15]

0.01 [-0.56, 0.58]

0.25 [-0.33, 0.83]

-0.87 [-3.45, 1.71]

0.06 [-0.04, 0.16]



Clock: Horvath, factor: SES, tissue: Saliva

Standard Error

100% T
B |
: Effect [95% CI]
]
1
1
1
PUBO081 - : 0.74 [-0.95, 2.43]
1
1
1
1
PUB081 - : 0.81 [-0.85, 2.47]
]
1
1
1
PUB132 - 1 -0.03 [-1.01, 0.95]
1
5% |
1
1
1
PUB132 o 1 -0.31[-3.37, 2.76]
1
]
1
1
1
PUB132 o | -1.75 [-4.45, 0.95]
]
S 1
E |
@ ]
PUB132 ; -2.30 [-7.87, 3.28]
1
]
1
1
PUB132 : 0.07 [-1.49, 1.63]
5% i
1
1
1
PUB132 o : 0.16 [-0.44, 0.76]
1
]
PUB237 o 0.02 [-0.06, 0.10]
PUB237 o 0.02 [-0.04, 0.08]
]
1
1
5% |
1
]
1
-5 0 5
Effect Summary 0.02 [-0.03, 0.07]
. Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100 :
. Power 10 - 20 Power 30 - 40 Power 60 — 70 . Power 80 — 90 ;
0

-6 -3
o =0.05, &= 0.02 | Medponer = 5%, dazy, = 1.25, degys = 1.95 | E = 0.58, O = 0, pres = 0.432, R-Index = 10% Effect



A 0.0

Standard Error

Clock: GrimAge, factor: Diet, tissue: Blood

100%

0.14 - 58.5%

0.2 19.3%

0.3 11.2%

-1.0 -0.5 0.0 0.5 1.0
Effect

. Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100

Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 — 90

a =0.05, 3= -0.22 | medgoer = 81.1%, dagy, = 0.12, dggy, = 0.18 | E = 7.3, O = 8, pres = 0.697, R-Index = 100%

Jamod

B

PUB100 -

PUB100 -

PUB100 -

PUB171

PUB171

PUB171

PUB171

PUB171

PUB172 1

PUB209 -

PUB209 -

PUB229 1

PUB230 -

Summary -

Effect [95% CI]

0.5

1.0

-0.26 [-0.91,

-0.66 [-1.15,

0.43 [-0.22,

-0.30 [-0.45,

-0.30 [-0.45,

~0.30 [-0.45,

-0.40 [-0.55,

-0.40 [-0.55,

~0.09 [-0.13,

0.02 [-0.29,

0.03 [-0.24,

~0.01 [-0.05,

-0.38 [-0.69,

-0.22 [-0.33,

0.39

-0.17

1.08]

-0.1f

-0.1¢

-0.1¢

-0.2¢

-0.2¢

-0.0¢

0.34]

0.30]

0.03

-0.03

-0.11



Clock: PhenoAge, factor: Employment, tissue: Blood

A 0.00 100% B T
: Effect [95% ClI]
1
PUB106 : 0.05 [-0.03, 0.13]
|
PUB209 i -0.17 [-1.49, 1.14]
|
PUB251 - : 0.10 [-0.15, 0.34]
1
PUB251 - 1 0.20 [-0.04, 0.44]
|
1
0.25 5.1% PUB256 : -0.52 [-2.25, 1.21]
|
PUB256 o 1 -0.40 [-1.41, 0.62]
|
|
PUB256 1 -0.31[-0.91, 0.29]
|
1
PUB256 1 -0.25 [-0.85, 0.36]
|
1
PUB256 - 1 -0.23 [-0.75, 0.30]
1
|
_ PUB256 1 -0.11[-0.88, 0.66]
o |
= |
050 g PUB256 - . -0.10 [-1.01, 0.82]
g 3 '
@ 1
§ PUB256 - | -0.01[-0.12, 0.10]
0 |
1
PUB256 - | 0.01 [-0.82, 0.83]
1
PUB256 o 0.01 [-0.03, 0.05]
PUB256 - : 0.09 [-1.79, 1.96]
|
PUB256 : 0.13 [-0.50, 0.76]
0.75 5% |
PUB256 - ; 0.13 [-1.36, 1.63]
1
PUB256 | 0.19 [-0.62, 0.99]
|
PUB256 : 0.24 [-0.50, 0.98]
|
PUB256 - : 0.45[-0.79, 1.68]
|
PUB256 i 0.75 [-0.46, 1.97]
1
100 5% PUB256 : 0.87 [-0.25, 2.00]
|
PUB256 : 0.90 [-0.75, 2.54]
-2 -1 0 1 2 i
Effect I
|
|
. Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100 Summary ’ 0.02 [-0.01, 0.05]
1
. Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90 | | | | |
-2 -1 0 1 2
o =0.05, 3= 0.02 | medpower = 5%, dazy = 0.63, degys = 0.98 | E = 1.31, O = 0, pres = 0.239, R-Index = 10.1% Effect



A 0.0

Standard Error

Clock: GrimAge, factor: Employment, tissue: Blood

100%
()

0.2 8.9%

N
~

6%

0.6

5.4%

0.8 5.2%

-2 -1 0 1 2
Effect
Power 0 - 10 Power 20 - 30 Power 40 - 60 Power 70 - 80 . Power 90 - 100
Power 10 - 20 Power 30 - 40 Power 60 - 70 . Power 80 - 90

a=0.05, 5= 0.12 | medponer = 7.7%, dagy = 0.36, degys = 0.57 | E = 13.16, O = 16, pres = 0.326, R-Index = 0%

Jamod

PUB106 -
PUB186
PUB186 A
PUB186 A
PUB186 -
PUB186
PUB186 A
PUB186 -
PUB186
PUB186 A
PUB186 o
PUB209 -
PUB209 +
PUB251 1
PUB251 1
PUB251 -
PUB251
PUB256 A
PUB256 -
PUB256 -
PUB256
PUB256 A
PUB256 -
PUB256
PUB256 A
PUB256 A
PUB256 -
PUB256 +
PUB256 A
PUB256 A
PUB256 -
PUB256 +
PUB256 A
PUB256 -
PUB256 -

PUB256

Summary =

-—=

I"666666°°°°

(

1
I

L

¢

-2

O =t

Effect

Effect [95% CI]

0.22[0.14, 0.30]
0.03 [-0.04, 0.09]
0.03 [-0.04, 0.09]
0.05[-0.02, 0.12]
0.05[-0.02, 0.12]
0.08 [-0.01, 0.16]
0.08 [ 0.00, 0.16]
0.10[0.01, 0.18]
0.10[0.03, 0.18]
0.11[0.03, 0.18]
0.19[0.11, 0.27]
-0.03[-1.09, 1.03
0.42 [-0.26, 1.11]
0.24 [ 0.05, 0.44]
0.36 [ 0.23, 0.50]
0.44[0.21, 0.67]
0.68[0.52, 0.83]
-1.45[-2.13, -0.71
-1.22 [-1.89, -0.5¢
-0.66 [-1.32, -0.01
-0.36 [-0.86, 0.14
-0.22 [-0.66, 0.21
-0.15[-0.92, 0.61
-0.11[-1.05, 0.83
—-0.05 [-0.08, -0.0z
-0.04 [-0.13, 0.05
0.04 [-1.41, 1.49]
0.15[-0.38, 0.68]
0.33[-0.29, 0.95]
0.57 [-0.99, 2.14]
0.61[-0.66, 1.87]
0.68 [-0.33, 1.69]
0.76 [ 0.26, 1.26]
0.80[-0.05, 1.64]
1.37[0.34, 2.40]
1.74[0.35, 3.13]

0.12[0.00, 0.23]



Standard Error

0.01

0.02

0.03

0.04

-0.10

Power 0 - 10

Power 10 - 20

Clock: Hannum, factor: Cognitive function, tissue: Blood

100%

10%

6.2%

5.5%

5.3%
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o =0.05, 5= ~0.01 | medpoyer = 6.2%, dazy, = 0.03, dgey, = 0.05 | E = 4.15, O = 9, pres = 0.014, R-Index = 0%
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Clock: GrimAge, factor: Substance use, tissue: Blood
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Standard Error

Clock: GrimAge, factor: Cardiovascular disease, tissue: Blood
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Standard Error

Clock: SkinBlood, factor: Pollutant/chemical exposure, tissue: Blood
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a = 0.05, 3= 0.01 | Medponer = 5.6%, gy, = 0.05, degys = 0.08 | E = 5.87, O = 8, pres = 0.366, R-Index = 3.4% Effect



Standard Error

Clock: SkinBlood, factor: Smoking, tissue: Blood
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Clock: PhenoAge, factor: Diet, tissue: Blood
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